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Ον τηε λιφτινγ ανδ αππροξιµατιον τηεορεµ

φορ νονσµοοτη ϖεχτορ �ελδσ�

Μαρχο Βραµαντι, Λυχα Βρανδολινι, Μαρχο Πεδρονι

Φεβρυαρψ 5, 2010

Αβστραχτ

Ωε προϖε α ϖερσιον οφ Ροτησχηιλδ−Στειν�σ τηεορεµ οφ λιφτινγ ανδ απ−
προξιµατιον ανδ σοµε ρελατεδ ρεσυλτσ ιν τηε χοντεξτ οφ νονσµοοτη Ηρ−
µανδερ�σ ϖεχτορ �ελδσ φορ ωηιχη τηε ηιγηεστ ορδερ χοµµυτατορσ αρε ονλψ
Ηλδερ χοντινυουσ. Τηε τηεορψ εξπλιχιτλψ χοϖερσ τηε χασε οφ ονε ϖεχτορ
�ελδ ηαϖινγ ωειγητ τωο ωηιλε τηε οτηερσ ηαϖε ωειγητ ονε.

Ιντροδυχτιον

Τηισ παπερ ισ φοχυσσεδ ον τηε ωελλ−κνοων �λιφτινγ ανδ αππροξιµατιον� τηεορεµ
προϖεδ βψ Ροτησχηιλδ−Στειν ιν [14], ανδ ρελατεδ τοπιχσ. Το δεσχριβε τηε χοντεξτ
ανδ αιµ οφ τηισ παπερ, ωε ηαϖε τηερεφορε το ρεχαλλ ωηατ τηατ τηεορεµ ισ αβουτ.
(Ηερε ωε ωιλλ βε ρατηερ σκετχηψ, ωηιλε πρεχισε δε�νιτιονσ ωιλλ βε γιϖεν λατερ).
Λετ υσ χονσιδερ α φαµιλψ οφ ρεαλ σµοοτη ϖεχτορ �ελδσ Ξ0; Ξ1; :::; Ξν δε�νεδ

ιν σοµε δοµαιν οφ Ρπ; ανδ τηε χορρεσπονδινγ σεχονδ ορδερ δι⁄ερεντιαλ οπερατορ

Λ =
νΞ

ι=1

Ξ2
ι +Ξ0: (1)

Ιφ τηε Ξι�σ σατισφψ Ηορµανδερ�σ χονδιτιον, τηεν Λ ισ ηψποελλιτπτιχ (Ηρµαν−
δερ�σ τηεορεµ, [10]).
Ιφ τηερε εξιστσ ιν Ρπ α στρυχτυρε οφ �ηοµογενεουσ γρουπ� συχη τηατ Λ ισ

λεφτ ινϖαριαντ (ωιτη ρεσπεχτ το τηε γρουπ τρανσλατιονσ) ανδ ηοµογενεουσ οφ δε−
γρεε τωο (ωιτη ρεσπεχτ το τηε γρουπ διλατιονσ), τηεν Λ ποσσεσσεσ α ηοµογε−
νεουσ φυνδαµενταλ σολυτιον (Φολλανδ, [7]) ωηιχη αλλοωσ ονε το αππλψ φαιρλψ σταν−
δαρδ τεχηνιθυεσ οφ σινγυλαρ ιντεγραλσ, ιν ορδερ το προϖε α−πριορι εστιµατεσ ανδ
οτηερ ιντερεστινγ προπερτιεσ οφ Λ: Ιφ συχη α γρουπ στρυχτυρε δοεσ νοτ εξιστσ, τηεν
Ροτησχηιλδ−Στειν�σ τηεορψ τελλσ υσ τηατ ιτ ισ στιλλ ποσσιβλε το ρεδυχε, ιν α συιταβλε

�2000 ΑΜΣ Χλασσι�χατιον: Πριµαρψ 53Χ17. Κεψωορδσ: νονσµοοτη Ηρµανδερ�σ ϖεχ−
τορ �ελδσ, Λιφτινγ, Συβελλιπτιχ διστανχε
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σενσε, τηε στυδψ οφ Λ το τηε στυδψ οφ α ηοµογενεουσ λεφτ ινϖαριαντ οπερατορ.
Τηισ ρεθυιρεσ α τηρεε−στεπ προχεσσ. Φιρστ, ονε �λιφτσ� τηε οριγιναλ ϖεχτορ �ελδσ

Ξι =

πΞ

ϕ=1

αϕ (ξ) ≅ξϕ ; ξ 2 Ρ
π

ωηιχη αρε ασσυµεδ το σατισφψ Ηρµανδερ�σ χονδιτιον ατ σοµε στεπ ρ; το σοµε
νεω ϖεχτορ �ελδσ

εΞι = Ξι +
µΞ

ϕ=1

βιϕ (ξ; τ) ≅τϕ ; (ξ; τ) 2 Ρπ+µ

σο τηατ τηεσε λιφτεδ ϖεχτορ �ελδσ στιλλ σατισφψ Ηρµανδερ�σ χονδιτιον ατ τηε σαµε
στεπ ρ; ανδ αρε φρεε υπ το στεπ ρ:
Σεχονδ, ονε προϖεσ τηατ ιν Ρπ+µ τηερε εξιστσ α στρυχτυρε οφ ηοµογενεουσ

γρουπ Γ ανδ α φαµιλψ οφ λεφτ ινϖαριαντ ηοµογενεουσ ϖεχτορ �ελδσ Ψι ωηιχη λοχαλλψ
αππροξιµατε τηε εΞι�σ. Μορε πρεχισελψ, φορ εϖερψ ποιντ � = (ξ; τ) τηερε ισ α λοχαλ
δι⁄εοµορπηισµ

υ = �� (�)

φροµ α νειγηβορηοοδ οφ � οντο α νειγηβορηοοδ οφ τηε οριγιν ιν Γ, συχη τηατ
ωιτη ρεσπεχτ το τηεσε λοχαλ χοορδινατεσ,

εΞι = Ψι +Ρ�ι

ωηερε τηε �ρεµαινδερ� Ρ�ι ισ α ϖεχτορ �ελδ, σµοοτηλψ δεπενδινγ ον τηε παρα−
µετερ �; συχη τηατ ιτσ αχτιον ον τηε φυνδαµενταλ σολυτιον � οφ

νΞ

ι=1

Ψ 2ι + Ψ0

γιϖεσ α φυνχτιον ωηιχη ισ λεσσ σινγυλαρ τηαν Ψι�: Τηε µαπ �� (�) ; α κεψ οβϕεχτ
ιν τηισ τηεορψ, αλσο ποσσεσσεσ οτηερ ιντερεστινγ προπερτιεσ:
(1) ιτ δεπενδσ σµοοτηλψ ον �;
(2) τηε φυνχτιον

� (�; �) = κ�� (�)κ

(ωηερε κ�κ ισ α ηοµογενεουσ νορµ ον τηε γρουπ Γ) ισ α θυασιδιστανχε (ωηιχη
αλσο τυρνσ ουτ το βε εθυιϖαλεντ το τηε διστανχε ινδυχεδ βψ τηε ϖεχτορ �ελδσ);
(3) τηε χηανγε οφ ϖαριαβλεσ υ = �� (�) οβεψσ το

δ� = χ (�) (1 +Ο (κυκ)) δυ

ωηερε τηε φυνχτιον χ (�) ισ σµοοτη ανδ βουνδεδ αωαψ φροµ ζερο.
Τηε σετ οφ ρεσυλτσ ϕυστ δεσχριβεδ αλλοωσ ονε το προϖε συιταβλε α πριορι εστιµατεσ

φορ τηε λιφτεδ οπερατορ εΛ: Ονχε τηεσε αρε προϖεδ, ιτ ισ νοτ δι′χυλτ (τηιρδ στεπ) το
δεριϖε τηε χορρεσπονδινγ εστιµατεσ φορ τηε οριγιναλ οπερατορ, εξπλοιτινγ τηε φαχτ
τηε Λ ισ τηε προϕεχτιον οφ εΛ ον Ρπ. Αλλ τηεσε ρεσυλτσ ηαϖε βεεν προϖεδ ιν [14].
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Οϖερ τηε ψεαρσ, τηε λιφτινγ ανδ αππροξιµατιον τεχηνιθυε ηασ σηοωεδ το βε
υσεφυλ αλσο φορ οτηερ πυρποσεσ. Ιν παρτιχυλαρ, σοµετιµεσ τηε λιφτινγ τηεορεµ ισ
ενουγη (ωιτηουτ νεεδ οφ τηε αππροξιµατιον παρτ οφ τηε τηεορψ), ιν ορδερ το
ρεδυχε προβλεµσ φορ α γενεραλ φαµιλψ οφ Ηρµανδερ�σ ϖεχτορ �ελδσ το προβλεµσ
φορ φρεε ϖεχτορ �ελδσ, ωηιχη φορ αλγεβραιχ ρεασονσ αρε εασιερ το βε στυδιεδ.

Σινχε τηε οριγιναλ προοφ οφ τηε λιφτινγ ανδ αππροξιµατιον τηεορεµ γιϖεν ιν [14]
ισ λονγ ανδ δι′χυλτ, σεϖεραλ αυτηορσ ηαϖε γιϖεν αλτερνατιϖε προοφσ: Ηρµανδερ−
Μελιν [11], Φολλανδ [8] ανδ Γοοδµαν [9] προϖε τηε λιφτινγ τηεορεµ ανδ α ποιντ−
ωισε ϖερσιον οφ τηε αππροξιµατιον τηεορεµ, ωιτηουτ δεαλινγ ωιτη τηε µαπ �� (�)
ανδ ιτσ προπερτιεσ; Φολλανδ ρεστριχτσ το τηε παρτιχυλαρ χασε ωηεν τηε σταρτινγ ϖεχ−
τορ �ελδσ αρε αλρεαδψ λεφτ ινϖαριαντ ανδ ηοµογενεουσ ωιτη ρεσπεχτ το α γρουπ
στρυχτυρε (βυτ αρε νοτ φρεε); µορε ρεχεντλψ, Βον�γλιολι−Υγυζζονι [4] ηαϖε προϖεδ
τηατ υνδερ Φολλανδ�σ ασσυµπτιονσ, τηε οριγιναλ ϖεχτορ �ελδσ χαν βε λιφτεδ δι−
ρεχτλψ το φρεε λεφτ ινϖαριαντ ηοµογενεουσ ϖεχτορ �ελδσ (ιν οτηερ ωορδσ, ιν τηισ
χασε τηε �ρεµαινδερσ� Ρ�ι χαν βε τακεν εθυαλ το ζερο). Χοµινγ βαχκ το τηε
χασε οφ γενεραλ Ηρµανδερ�σ ϖεχτορ �ελδσ, Χηριστ−Ναγελ−Στειν−Ωεινγερ [5] προϖε
α σοµεωηατ µορε γενεραλ ϖερσιον οφ τηε λιφτινγ τηεορεµ, βεχαυσε τηεψ χονσιδερ
�ωειγητεδ� ϖεχτορ �ελδσ (ωε ωιλλ εξπλαιν τηισ φεατυρε ιν α µοµεντ); ον τηε οτηερ
ηανδ, τηεψ δο νοτ προϖε ανψ αππροξιµατιον ρεσυλτ.
Αλτηουγη Ροτησχηιλδ−Στειν στατε τηειρ µαιν ρεσυλτσ φορ α Ηρµανδερ οπερατορ

(1), αλλ τηειρ προοφσ αρε ωριττεν φορ τηε �συµ οφ σθυαρεσ� οπερατορ

Λ =

νΞ

ι=1

Ξ2
ι :

Τηε ισσυε ιν ηανδλινγ Ηρµανδερ�σ οπερατορσ (1) χονσιστσ ιν τηε φαχτ τηατ τηε
ϖεχτορ �ελδ Ξ0 ηασ �ωειγητ� 2; ωηιλε Ξ1; Ξ2; :::; Ξν ηαϖε ωειγητ 1; τηισ φαχτ
ρεθυιρεσ το µοδιφψ ιν α συιταβλε ωαψ αλλ τηε βασιχ δε�νιτιονσ αππεαρινγ ιν τηισ
χοντεξτ (φρεε ϖεχτορ �ελδσ, ωειγητ οφ α χοµµυτατορ,...); δυε το τηε χοµπλεξιτψ
οφ τηε τηεορψ, τηισ αδαπτατιον ισ νοτ τριϖιαλ. Νεϖερτηελεσσ, ασ φαρ ασ ωε κνοω,
α δεταιλεδ προοφ οφ λιφτινγ, αππροξιµατιον, ανδ προπερτιεσ οφ τηε µαπ �� (�),
αδαπτεδ το τηε χασε οφ ωειγητεδ ϖεχτορ �ελδσ ηασ νοτ βεεν ωριττεν ψετ (ασ ωε
ηαϖε αλρεαδψ ποιντεδ ουτ, τηε παπερ [5] χονσιδερσ ωειγητεδ ϖεχτορ �ελδσ βυτ ονλψ
χονταινσ α προοφ οφ τηε λιφτινγ ρεσυλτ).
Α �ρστ αιµ οφ τηισ παπερ ισ το πρεσεντ α δεταιλεδ προοφ οφ τηε αφορεµεντιονεδ

ρεσυλτσ, εξπλιχιτλψ χοϖερινγ τηε χασε οφ ωειγητεδ ϖεχτορ �ελδσ.
Σεχονδ, ωε αρε ιντερεστεδ ιν εξτενδινγ τηεσε ρεσυλτσ το τηε χασε οφ νονσµοοτη

ϖεχτορ �ελδσ, τηατ ισ, ϖεχτορ �ελδσ ωηιχη ονλψ ποσσεσσ τηε νυµβερ οφ δεριϖατιϖεσ
ινϖολϖεδ ιν τηε χοµµυτατορσ ωηιχη αρε νεχεσσαρψ το χηεχκ Ηρµανδερ�σ χονδι−
τιον, ωιτη Ηλδερ χοντινυουσ δεριϖατιϖεσ οφ τηε µαξιµυµ ορδερ. Τηισ ισ παρτ
οφ α λαργερ προϕεχτ ωηιχη ωε ηαϖε σταρτεδ ιν [2], ωηερε ωε ηαϖε προϖεδ ιν τηισ
νονσµοοτη χοντεξτ α Ποινχαρ�σ ινεθυαλιτψ, τογετηερ ωιτη τηε βασιχ προπερτιεσ
οφ τηε διστανχε ινδυχεδ βψ τηε Ξι�σ: Χηοω�σ χοννεχτιϖιτψ τηεορεµ, τηε δουβλινγ
χονδιτιον, τηε εθυιϖαλενχε βετωεεν δι⁄ερεντ διστανχεσ ινδυχεδ βψ τηε Ξι�σ, ετχ.
Ωε ρεφερ το τηε ιντροδυχτιον οφ [2] φορ α συρϖεψ οφ τηε εξιστινγ λιτερατυρε αβουτ
νονσµοοτη Ηρµανδερ�σ ϖεχτορ �ελδσ.
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Ωε ποιντ ουτ τηατ τηε λιφτινγ τηεορεµ ωηιχη ωε προϖε ηερε ηασ αλρεαδψ βεεν
υσεδ ιν [2], ασ ονε οφ τηε τοολσ ιν τηε προοφ οφ α Ποινχαρ�σ ινεθυαλιτψ. Μορεοϖερ,
τηε ωηολε σετ οφ ρεσυλτσ προϖεδ ιν τηισ παπερ αλλοωσ το εσταβλιση, φορ τηε οπερατορ
Λ; τηε εξιστενχε οφ α λοχαλ φυνδαµενταλ σολυτιον. Τηισ ρεσυλτ, οβταινεδ βψ α
συιταβλε αδαπτατιον οφ τηε Λεϖι�σ παραµετριξ µετηοδ, ωιλλ βε αχχοµπλισηεδ ιν
τηε φορτηχοµινγ παπερ [3].
Τηε µαιν ρεσυλτσ αβουτ νονσµοοτη ωειγητεδ ϖεχτορ �ελδσ προϖεδ ιν τηισ

παπερ αρε: λιφτινγ (Τηµ. 5, ♣1.2), αππροξιµατιον (Τηµ. 32, ♣3.3), ανδ προπερτιεσ
οφ τηε µαπ �� (�) (Προπ. 31, ♣3.3, Προπ. 33 ανδ Προπ. 34, ♣3.4), ωηιχη αρε τηε
αναλογ οφ τηε προπερτιεσ (1), (2), (3) θυοτεδ ατ τηε βεγιννινγ οφ τηε Ιντροδυχτιον.
Ωε νοω δεσχριβε τηε γενεραλ στρατεγψ τηατ ωε ηαϖε φολλοωεδ ανδ τηε στρυχτυρε

οφ τηε παπερ.
Ιν ♣1 ωε προϖε τηε λιφτινγ τηεορεµ φορ ωειγητεδ νονσµοοτη Ηρµανδερ�σ

ϖεχτορ �ελδ. Ηερε ανδ ιν τηε φολλοωινγ σεχτιον ωε αδαπτ ανδ δεταιλ τηε αργυµεντσ
ιν [11]. Ηοωεϖερ, ιν ορδερ το προϖε τηε αππροξιµατιον ρεσυλτ φορ νονσµοοτη
ϖεχτορ �ελδσ, ιτ ισ νοτ ποσσιβλε το προχεεδ φυρτηερ ιν τηε λινε οφ [11]. Τηε ρεασον ισ
τηατ α βασιχ ιδεα οφ τηισ τηεορψ ισ τηατ οφ ρεωριτινγ τηε ϖεχτορ �ελδσ ιν �χανονιχαλ
χοορδινατεσ�; τηισ µεανσ το αππλψ α συιταβλε χηανγε οφ ϖαριαβλεσ, ωηιχη ηοωεϖερ
τυρνσ ουτ το βε ϕυστ Ηλδερ χοντινυουσ ιφ τηε ϖεχτορ �ελδσ ηαϖε τηε λιµιτεδ
σµοοτηνεσσ τηατ ωε ασσυµε, σο τηατ τηισ ωαψ ισ χλοσεδ.
Τηερεφορε, ιν ♣2, ωε πασσ το χονσιδερ φρεε σµοοτη ϖεχτορ �ελδσ, προϖινγ φορ

τηεµ τηε αππροξιµατιον ρεσυλτ, α βαλλ−βοξ τηεορεµ, ανδ τηε δεσιρεδ προπερτιεσ
οφ τηε µαπ �� (�). Ασ α βψ−προδυχτ ωε αλσο γετ, ιν τηε παρτιχυλαρ χασε οφ φρεε
ϖεχτορ �ελδσ, α θυιτε σιµπλε προοφ οφ τηε ρεσυλτσ δυε το Ναγελ−Στειν−Ωαινγερ [12]
αβουτ τηε ϖολυµε οφ µετριχ βαλλσ ανδ τηε δουβλινγ χονδιτιον.
Τηεν, ιν ♣3, ωε χοµε βαχκ το νονσµοοτη φρεε ϖεχτορ �ελδσ. Νοω τηε νατυραλ

ιδεα ισ το αππροξιµατε νονσµοοτη ϖεχτορ �ελδσ ωιτη σµοοτη ονεσ, οβταινεδ τακ−
ινγ συιταβλε Ταψλορ�σ εξπανσιονσ οφ τηε χοε′χιεντσ. Τηισ ιδεα, �ρστλψ ιντροδυχεδ
ιν [6], ηασ βεεν υσεδ αλσο ιν [2]. Το τηεσε αππροξιµατινγ σµοοτη ϖεχτορ �ελδσ
ωε χαν αππλψ τηε τηεορψ δεϖελοπεδ ιν ♣2, ιν ορδερ το δεριϖε τηε χορρεσπονδινγ
ρεσυλτσ ιν τηε νονσµοοτη χασε. Ωε στρεσσ τηε φαχτ τηατ, ιν τηε νονσµοοτη χον−
τεξτ, τηε προπερτιεσ οφ τηε µαπ �� (�) ηολδ ιν α ωεακερ φορµ: τηε δεπενδενχε ον
� ισ ονλψ Ηλδερ χοντινυουσ. Ηοωεϖερ, τηισ ισ ενουγη το γετ τηε αφορεµεντιονεδ
εξιστενχε ρεσυλτ φορ α φυνδαµενταλ σολυτιον φορ Λ.
Αχκνοωλεδγεµεντ. Ωε ωιση το τηανκ Προφεσσορ Α. Μελιν, ωηο κινδλψ αχ−
χεπτεδ το χλαριφψ το υσ σοµε αργυµεντσ χονταινεδ ιν ηισ παπερ [11].

1 Λιφτινγ οφ νονσµοοτη Ηρµανδερ�σ ϖεχτορ �ελδσ

1.1 Ασσυµπτιονσ ανδ νοτατιον

Λετ Ξ0; Ξ1; :::; Ξν βε α σψστεµ οφ ρεαλ ϖεχτορ �ελδσ, δε�νεδ ιν α δοµαιν οφ Ρπ:
Λετ υσ ασσιγν το εαχη Ξι α ωειγητ πι, σαψινγ τηατ

π0 = 2 ανδ πι = 1 φορ ι = 1; 2; :::ν:
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Τηε φολλοωινγ στανδαρδ νοτατιον, ωιλλ βε υσεδ τηρουγηουτ τηε παπερ. Φορ
ανψ µυλτιινδεξ

Ι = (ι1; ι2; :::; ικ)

ωε δε�νε τηε ωειγητ οφ Ι ασ

ϕΙϕ =
κΞ

ϕ=1

πιϕ :

Σοµετιµεσ, ωε ωιλλ αλσο υσε τηε (υσυαλ) λενγτη οφ Ι;

 (Ι) = κ:

Φορ ανψ ϖεχτορ �ελδ Ξ, ωε δενοτε βψ αδΞ τηε λινεαρ οπερατορ ωηιχη µαπσ Ψ
το [Ξ;Ψ ] ; ωηερε Ψ ισ ανψ ϖεχτορ �ελδ ανδ [�; �] ισ τηε Λιε βραχκετ. Νοω, φορ ανψ
µυλτιινδεξ Ι = (ι1; ι2; :::; ικ) ωε σετ:

ΞΙ = Ξι1Ξι2 :::Ξικ

ανδ

Ξ[Ι] = αδΞι1αδΞι2 :::αδΞικ�1Ξικ =
�
Ξι1 ;

�
Ξι2 ; :::

�
Ξικ�1 ; Ξικ

�
:::
��
:

Ιφ Ι = (ι1) ; τηεν
Ξ[Ι] = Ξι1 = ΞΙ :

Ασ υσυαλ, Ξ[Ι] χαν βε σεεν ειτηερ ασ α δι⁄ερεντιαλ οπερατορ ορ ασ α ϖεχτορ
�ελδ. Ωε ωιλλ ωριτε

Ξ[Ι]φ

το δενοτε τηε δι⁄ερεντιαλ οπερατορ Ξ[Ι] αχτινγ ον α φυνχτιον φ , ανδ

�
Ξ[Ι]

�
ξ

το δενοτε τηε ϖεχτορ �ελδ Ξ[Ι] εϖαλυατεδ ατ τηε ποιντ ξ.

Ασσυµπτιονσ (Α). Ωε ασσυµε τηατ φορ σοµε ιντεγερ ρ � 2 ανδ σοµε
βουνδεδ δοµαιν (ι.ε., χοννεχτεδ οπεν συβσετ) 
 � Ρπ τηε φολλοωινγ ηολδ:
Τηε χοε′χιεντσ οφ τηε ϖεχτορ �ελδσ Ξ1; Ξ2; :::; Ξν βελονγ το Χ

ρ�1 (
) ; ωηιλε
τηε χοε′χιεντσ οφ Ξ0 βελονγ το Χ

ρ�2 (
) : Ηερε ανδ ιν τηε φολλοωινγ, Χκ στανδσ
φορ τηε χλασσιχαλ σπαχε οφ φυνχτιονσ ωιτη χοντινυουσ δεριϖατιϖεσ υπ το ορδερ κ.
Τηεσε ασσυµπτιονσ αρε χονσιστεντ ιν ϖιεω οφ τηε φολλοωινγ

Λεµµα 1 Υνδερ τηε ασσυµπτιον (Α) αβοϖε, φορ ανψ 1 � κ � ρ; τηε δι⁄ερεντιαλ
οπερατορσ

φΞΙγϕΙϕ�κ

αρε ωελλ δε�νεδ, ανδ ηαϖε Χρ�κ χοε′χιεντσ. Τηε σαµε ισ τρυε φορ τηε ϖεχτορ
�ελδσ

�
Ξ[Ι]

	
ϕΙϕ�κ

:

5



Προοφ. Βψ ινδυχτιον ον κ. Φορ κ = 1; τηε ασσερτιον ισ παρτ οφ τηε ασσυµπτιον
(Α). Ασσυµε τηε ασσερτιον ηολδσ υπ το κ � 1, ανδ λετ

Ι = (ι1; ι2; :::; ιµ) ; ωιτη ϕΙϕ = κ:

Σετ Ι 0 = (ι2; :::; ιµ) σο τηατ ΞΙ (ξ) = Ξι1ΞΙ0 (ξ) : Ιφ Ξι1 ηασ ωειγητ πι1 , τηεν
ϕΙ 0ϕ = κ�πι1 � 0; βψ ινδυχτιϖε ασσυµπτιον, ΞΙ0 ηασ Χ

ρ�κ+πι1 χοε′χιεντσ, ηενχε
Ξι1ΞΙ0 (ξ) ηασ Χ

η χοε′χιεντσ, ωιτη η = µιν (ρ � κ + πι1 � 1; ρ � πι1) � ρ � κ;
ανδ ωε αρε δονε.

1.2 Ηρµανδερ−Μελιν προχεδυρε

Ωε αρε νοω γοινγ το δε�νε τηε χονχεπτ οφ φρεε ϖεχτορ �ελδσ. Χλεαρλψ, ανψ ϖεχτορ
�ελδ Ξ[Ι] ωιτη ϕΙϕ � ρ χαν βε ρεωριττεν εξπλιχιτλψ ασ α λινεαρ χοµβινατιον οφ
οπερατορσ οφ τηε κινδ Ξϑ φορ ϕϑ ϕ = ϕΙϕ:

Ξ[Ι] =
Ξ

ϑ

ΑΙϑΞϑ

ωηερε φΑΙϑγϕΙϕ;ϕϑϕ�ρ ισ α µατριξ οφ υνιϖερσαλ χονσταντσ, βυιλτ εξπλοιτινγ ονλψ
τηοσε ρελατιονσ βετωεεν Ξ[Ι] ανδ Ξϑ ωηιχη ηολδ αυτοµατιχαλλψ, ασ α χονσεθυενχε
οφ τηε δε�νιτιον οφ Ξ[Ι]; ρεγαρδλεσσ οφ τηε σπεχι�χ προπερτιεσ οφ τηε ϖεχτορ �ελδσ
Ξ0; Ξ1; :::; Ξν. Ιν παρτιχυλαρ, ωε σεε τηατ

ΑΙϑ = 0 ιφ ϕϑ ϕ 6= ϕΙϕ

ανδ
ΑΙϑ = �Ιϑ ιφ ϕϑ ϕ = ϕΙϕ = 1.

Αλσο, νοτε τηατ ιφ φαΙγΙ2Β ισ ανψ �νιτε σετ οφ χονσταντσ συχη τηατ

Ξ

Ι2Β

αΙΑΙϑ = 0 8ϑ , τηεν
Ξ

Ι2Β

αΙΞ[Ι] � 0 (2)

φορ αρβιτραρψ ϖεχτορ �ελδσ Ξ0; Ξ1; :::; Ξν: Ρεϖερσινγ τηισ προπερτψ ωε γετ τηε
δε�νιτιον οφ α κεψ χονχεπτ ωηιχη ωιλλ βε δεαλτ ωιτη ιν τηε φολλοωινγ:

∆ε�νιτιον 2 Φορ ανψ ποσιτιϖε ιντεγερ σ � ρ, ωε σαψ τηατ τηε ϖεχτορ �ελδσ
Ξ0; Ξ1; :::; Ξν αρε φρεε υπ το ωειγητ σ ατ 0, ιφ, φορ ανψ φαµιλψ οφ χονσταντσ
φαΙγϕΙϕ�σ, Ξ

ϕΙϕ�σ

αΙ
�
Ξ[Ι]

�
0
= 0 =)

Ξ

ϕΙϕ�σ

αΙΑΙϑ = 0 8ϑ:

Χοµπαρινγ τηισ δε�νιτιον ωιτη (2) σηοωσ τηατ Ξ0; Ξ1; :::; Ξν αρε φρεε υπ το
ωειγητ σ ατ 0 ιφ, ρουγηλψ σπεακινγ, τηε ονλψ λινεαρ ιδεντιτιεσ ρελατινγ τηε Ξ[Ι]�σ φορ
ϕΙϕ � σ (ατ 0) αρε τηοσε ωηιχη ηολδ φορ ανψ ποσσιβλε χηοιχε οφ Ξ0; Ξ1; :::; Ξν, ασ α
χονσεθυενχε οφ τηε φορµαλ προπερτιεσ οφ τηε Λιε βραχκετ, ναµελψ αντισψµµετρψ
ανδ ϑαχοβι ιδεντιτψ. Ηοωεϖερ, τηε δι⁄ερεντ ωειγητσ οφ τηε ϖεχτορ �ελδσ µακε
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τηισ προπερτψ νοτ σο εασψ το στατε µορε εξπλιχιτλψ. Φορ ινστανχε, σαψινγ τηατ
Ξ0; Ξ1; :::; Ξν αρε φρεε υπ το ωειγητ 1 ατ 0 ϕυστ µεανσ τηατ Ξ1; :::; Ξν αρε λινεαρλψ
ινδεπενδεντ (ωιτηουτ ανψ ρεθυιρεµεντ ον Ξ0); σαψινγ τηατ Ξ0; Ξ1; :::; Ξν αρε
φρεε υπ το ωειγητ 2 ατ 0 µεανσ τηατ:

ι) Ξ1; :::; Ξν αρε λινεαρλψ ινδεπενδεντ;

ιι) Ξ0 ισ νοτ α λινεαρ χοµβινατιον οφ ϖεχτορ �ελδσ οφ τηε κινδ [Ξι; Ξϕ ] φορ
ι; ϕ = 1; 2; :::; ν;

ιιι) τηε ονλψ λινεαρ ρελατιονσ βετωεεν τηε [Ξι; Ξϕ ]�σ (φορ ι; ϕ = 1; 2; :::; ν) αρε
τηοσε φολλοωινγ φροµ αντισψµµετρψ.

Χλεαρλψ, φορ α γενεραλ σ τηε εξπλιχιτ δεσχριπτιον οφ τηισ προπερτψ βεχοµεσ
χυµβερσοµε.

Προποσιτιον 3 Τηε ϖεχτορ �ελδσ Ξ0; Ξ1; :::; Ξν αρε φρεε οφ ωειγητ σ ατ 0 ιφ ανδ
ονλψ ιφ φορ ανψ φαµιλψ οφ χονσταντσ φχΙγϕΙϕ�σ � Ρ τηερε εξιστσ α φυνχτιον υ 2
Χ1 (Ρπ) συχη τηατ ΞΙυ(0) = χΙ ωηεν ϕΙϕ � σ.

Προοφ. Το σηοω τηατ τηε �ιφ� χονδιτιον ηολδσ, λετ υσ συπποσε τηατ
Π

ϕΙϕ�σ αΙΞ[Ι](0) =
0. Τηεν

0 =
Ξ

ϕΙϕ�σ

αΙΞ[Ι]υ(0) =
Ξ

ϕΙϕ�σ

αΙ
Ξ

ϕϑϕ�σ

ΑΙϑΞϑυ(0) =
Ξ

ϕΙϕ;ϕϑϕ�σ

αΙΑΙϑχϑ ,

ανδ τηισ ιµπλιεσ τηατ
Π

ϕΙϕ�σ αΙΑΙϑ = 0 ωηεν ϕϑ ϕ � σ, σινχε τηε χϑ �σ αρε αρβιτραρψ.
Τηυσ Ξ0; Ξ1; :::; Ξν αρε φρεε οφ ωειγητ σ ατ 0.
Νοω ωε νεεδ σοµε νοτατιονσ το προϖε τηε �ονλψ ιφ� χονδιτιον. Ωε χονσιδερ

πολψνοµιαλσ ιν τηε νονχοµµυτινγ ϖαριαβλεσ �0; �1; :::; �ν ανδ ωε ασσιγν το �0 τηε
ωειγητ π0 = 2, ανδ το �ι, φορ ι = 1; :::; ν τηε ωειγητ πι = 1. Ασ ωε διδ ωιτη
τηε ϖεχτορ �ελδσ Ξ0; Ξ1; :::; Ξν, φορ ανψ µυλτι−ινδεξ Ι = (ι1; ι2; :::; ικ) ωε πυτ
�[Ι] = αδ �ι1 :::αδ �ικ�1 �ικ , ωηερε αδ �ι �ϕ = �ι�ϕ � �ϕ�ι. Φιναλλψ, ωε λετ ς βε
τηε ϖεχτορ σπαχε σπαννεδ βψ τηε µονοµιαλσ �Ι , ωιτη ϕΙϕ � σ, ανδ ς 0 βε ιτσ
δυαλ σπαχε. Εϖερψ φυνχτιον υ 2 Χ1 (Ρπ) γιϖεσ ρισε το τηε λινεαρ µαπ �υ 2 ς

0

δε�νεδ βψ �υ(π) = π(Ξ0; :::; Ξν)υ(0), ωηερε π 2 ς . (Νοτατιον: ιφ π = �Ι ; τηεν
π(Ξ0; :::; Ξν)υ(0) = (ΞΙυ) (0)). Τηυσ ωε ηαϖε α µαππινγ

� : Χ1 (Ρπ)! ς 0

� : υ 7! �υ

ανδ ουρ αιµ ισ το σηοω τηατ ιτ ισ συρϕεχτιϖε. Μορε πρεχισελψ, ιφ Λ 2 ς 0 ισ δε�νεδ
βψ Λ(�Ι) = χΙ , ωε ηαϖε το �νδ υ 2 Χ

1 (Ρπ) συχη τηατ �υ = Λ. Λετ υσ δενοτε
ωιτη ςϕ τηε συβσπαχε οφ ς σπαννεδ βψ τηε προδυχτσ �[Ι1] � � � �[Ι� ], ωιτη � � ϕ
(ανδ ϕΙ1ϕ+ � � �+ ϕΙ� ϕ � σ). Νοτιχε τηατ ςσ = ς . Ωε ωιλλ σηοω βψ ινδυχτιον ωιτη
ρεσπεχτ το ϕ, ωιτη 1 � ϕ � σ, τηατ τηερε εξιστσ υ 2 Χ1 (Ρπ) συχη τηατ �υ = Λ
ον ςϕ , τηατ ισ το σαψ,

Ξ[Ι1] � � �Ξ[Ι� ]υ(0) = Λ(�[Ι1] � � � �[Ι� ]) (3)
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ιφ � � ϕ ανδ ϕΙ1ϕ+ � � �+ ϕΙ� ϕ � σ.
Ιφ ϕ = 1, τηεν � = 1 ανδ (3) χαν βε ωριττεν ασ

Ξ[Ι]υ(0) = Λ
�
�[Ι]
�
φορ ανψ ϕΙϕ � σ:

Σινχε τηε Ξι�σ αρε φρεε οφ ωειγητ σ ατ 0, ωε ηαϖε τηατ

Ξ

ϕΙϕ�σ

αΙ
�
Ξ[Ι]

�
0
= 0 =)

Ξ

ϕΙϕ�σ

αΙ�[Ι] = 0. (4)

Ναµελψ,
Π

ϕΙϕ�σ αΙ
�
Ξ[Ι]

�
0
= 0 ιµπλιεσ τηατ

Π
ϕΙϕ�σ αΙΑΙϑ = 0 φορ ανψ ϑ; ηενχε

Ξ

ϕΙϕ�σ

αΙ�[Ι] =
Ξ

ϕΙϕ�σ

αΙ
Ξ

ϑ

ΑΙϑ�ϑ =
Ξ

ϑ

0
≅Ξ

ϕΙϕ�σ

αΙΑΙϑ

1
Α �ϑ = 0:

Βψ (4), τηερε ισ α (υνιθυε) λινεαρ φορµ δε�νεδ ον τηε σπαν οφ τηε τανγεντ ϖεχτορσ
φ
�
Ξ[Ι]

�
0
γϕΙϕ�σ βψ �

Ξ[Ι]
�
0
7! Λ

�
�[Ι]
�
.

Ωε χαν εξτενδ τηισ φορµ το Ρπ ανδ τηεν �νδ α φυνχτιον υ 2 Χ1 (Ρπ), ε.γ., α
�ρστ δεγρεε ηοµογενεουσ πολψνοµιαλ, συχη τηατ τηε δι⁄ερεντιαλ υ(1)(0) = δυ(0)
οφ υ ατ 0 χοινχιδεσ ωιτη συχη αν εξτενσιον. Σινχε υ(1)(0)

�
Ξ[Ι]

�
0
= Ξ[Ι]υ(0), τηε

χασε ϕ = 1 ισ δονε.
Ασσυµε νοω τηατ φορ ανψ Λ 2 ς 0 τηερε εξιστσ υ0 2 Χ1 (Ρπ) συχη τηατ

�υ0 = Λ ον ςϕ�1. Τηισ µεανσ τηατ

Ξ[Ι1] � � �Ξ[Ι� ]υ0(0) = Λ(�[Ι1] � � � �[Ι� ]) (5)

ωηεν � � ϕ� 1 ανδ ϕΙ1ϕ+ � � �+ ϕΙ� ϕ � σ. Ιφ υ = υ0+ ϖ, ωιτη ϖ ϖανισηινγ οφ ορδερ
ϕ ατ 0 (ιν τηε υσυαλ σενσε), τηεν �υ = Λ ον ςϕ�1, µεανινγ τηατ ωε µυστ �νδ ϖ
ιν συχη α ωαψ τηατ (3) ισ σολϖεδ φορ � = ϕ. Ιν τηισ χασε, τηε εθυατιον τακεσ τηε
φορµ

ϖ(ϕ)(0)
��
Ξ[Ι1]

�
0
; : : : ;

�
Ξ[Ιϕ ]

�
0

�
= Λ(�[Ι1] � � � �[Ιϕ ])�Ξ[Ι1] � � �Ξ[Ιϕ ]υ0(0), (6)

ωηερε ϖ(ϕ)(0) ισ τηε ϕ−τη δι⁄ερεντιαλ οφ ϖ ατ 0, σεεν ασ α ϕ−λινεαρ φορµ ον Ρπ.
Ναµελψ,

Ξ[Ι1] � � �Ξ[Ιϕ ]υ(0) = Ξ[Ι1] � � �Ξ[Ιϕ ]υ0(0) +Ξ[Ι1] � � �Ξ[Ιϕ ]ϖ(0) = Λ(�[Ι1] � � � �[Ι� ])

βυτ Ξ[Ι1] � � �Ξ[Ιϕ ]ϖ(0) σιµπλψ εθυαλσ ϖ
(ϕ)(0)

��
Ξ[Ι1]

�
0
; : : : ;

�
Ξ[Ιϕ ]

�
0

�
; βεχαυσε αλλ

τηε δεριϖατιϖεσ οφ ϖ οφ ιντερµεδιατε ορδερ (ωηιχη αππεαρσ εξπανδινγ τηε δι⁄ερ−
εντιαλ οπερατορ Ξ[Ι1] � � �Ξ[Ιϕ ]) αχτυαλλψ ϖανιση βεχαυσε ϖ ϖανισηεσ οφ ορδερ ϕ ατ
0.
Τηυσ, ιφ ωε σηοω τηατ τηε ριγητ−ηανδ σιδε οφ (6) δε�νεσ α σψµµετριχ ϕ−

λινεαρ φορµ ον τηε σπαν οφ τηε τανγεντ ϖεχτορσ
�
Ξ[Ι]

�
0
, ωηερε ϕΙϕ � σ; τηεν
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ωε αρε δονε, βεχαυσε ωε χαν τηεν εξτενδ τηισ φορµ το Ρπ ανδ τηερεφορε �νδ α
φυνχτιον ϖ 2 Χ1 (Ρπ) ϖανισηινγ οφ ορδερ ϕ ατ 0, ε.γ., α ϕ−τη δεγρεε ηοµογενεουσ
πολψνοµιαλ, συχη τηατ ιτσ ϕ−τη δι⁄ερεντιαλ ϖ(ϕ)(0) ατ 0 χοινχιδεσ ωιτη τηε εξτενδεδ
ϕ−λινεαρ φορµ.
Σο, λετ ϑ βε τηε φορµ δε�νεδ βψ

ϑ :
��
Ξ[Ι1]

�
0
; : : : ;

�
Ξ[Ιϕ ]

�
0

�
7! Λ(�[Ι1] � � � �[Ιϕ ])�Ξ[Ι1] � � �Ξ[Ιϕ ]υ0(0):

Τηε χηεχκ τηατ τηισ ϕ−λινεαρ φορµ ισ αχτυαλλψ ωελλ δε�νεδ αµουντσ το σηοω τηατ

Ξ
αΙ1
�
Ξ[Ι1]

�
0
= 0;

Ξ
αΙ2
�
Ξ[Ι2]

�
0
= 0; :::;

Ξ
αΙϕ
�
Ξ[Ιϕ ]

�
0
= 0 =)

Ξ
αΙ1αΙ2 :::αΙϕ

�
Λ(�[Ι1] � � � �[Ιϕ ])�Ξ[Ι1] � � �Ξ[Ιϕ ]υ0(0)

	
= 0

Τηισ ισ αλµοστ τηε σαµε ασ ιν τηε ϕ = 1 χασε. Ινδεεδ, τηε ιµπλιχατιον (4) στιλλ
ηολδσ, ανδ τηερεφορε

Π
αΙι
�
Ξ[Ιι]

�
0
= 0 =)

Π
αΙι�[Ιι] = 0 φορ ι = 1; 2; :::; ν;

ηενχε
Ξ

αΙ1αΙ2 :::αΙϕ
�
Λ(�[Ι1] � � � �[Ιϕ ])�Ξ[Ι1] � � �Ξ[Ιϕ ]υ0(0)

	
=

= Λ
�Ξ

αΙ1�[Ι1]
Ξ

αΙ2�[Ι2]:::
Ξ

αΙϕ�[Ιϕ]

�
+

�
Ξ

αΙ1Ξ[Ι1]
Ξ

αΙ2Ξ[Ι2]:::
Ξ

αΙϕΞ[Ιϕ ]υ0 (0) = 0:

Το σηοω τηε σψµµετρψ οφ ϑ , λετ υσ ιντροδυχε

δΙ1;:::;Ιϕ = Λ(�[Ι1] � � � �[Ιϕ ])�Ξ[Ι1] � � �Ξ[Ιϕ ]υ0(0),

ανδ λετ υσ προϖε τηατ τηεψ αρε σψµµετριχ ιν τηε (µυλτι−)ινδιχεσ. Ωε �ρστ νεεδ
το σηοω τηατ φορ εϖερψ παιρ οφ µυλτι−ινδιχεσ Ι ανδ ϑ , ονε ηασ

[�[Ι]; �[ϑ]] =
Ξ

ϕΚϕ=ϕΙϕ+ϕϑϕ

βΚ�[Κ],

ωηερε τηε βΚ �σ αρε αβσολυτε χονσταντσ, ονλψ δεπενδινγ ον τηε µυλτιινδιχεσ
Ι; ϑ;Κ. Τηισ ισ ϕυστ α χονσεθυενχε οφ ϑαχοβψ ιδεντιτψ, ασ ωε χαν σηοω βψ ιν−
δυχτιον ον  (Ι). Φιρστ, ιφ  (Ι) = 1; τηατ ισ Ι = (ι) ; τηερε ισ νοτηινγ το προϖε,
βεχαυσε

[�[Ι]; �[ϑ]] = [�ι; �[ϑ]] = �[Κ]

ωιτη Κ = (ι; ϑ), ϕυστ βψ δε�νιτιον οφ �[Κ]. Ασσυµε τηεν τηε προπερτψ φορ  (Ι) �
κ; ανδ λετ Ι = (ι; Ι 0) ωιτη  (Ι 0) = κ; τηεν

�
�[Ι]; �[ϑ]

�
=
�
�[ι;Ι0]; �[ϑ]

�
=
��
�ι; �[Ι0]

�
; �[ϑ]

�
=

=
�
�ι;
�
�[Ι0]; �[ϑ]

��
+
�
�[Ι0];

�
�[ϑ]; �ι

��
:

Νοω τηε �ρστ τερµ ιν τηε λαστ συµ ισ αλρεαδψ ιν τηε προπερ φορµ, ωηιλε τηε
σεχονδ χαν βε ρεωριττεν ιν τηε προπερ φορµ βψ ινδυχτιϖε ασσυµπτιον, σο ωε αρε
δονε.
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Λετ υσ σηοω νοω τηε δεσιρεδ σψµµετρψ ρεσυλτ. Ιτ ισ χλεαρλψ συ′χιεντ το σηοω
ιτ φορ χονσεχυτιϖε ινδιχεσ. Ωε λιµιτ ουρσελϖεσ το ϖεριφψ τηε σψµµετρψ ωιτη ρεσπεχτ
το τηε �ρστ τωο ινδιχεσ, τηε οτηερ χασεσ βεινγ α στραιγητφορωαρδ γενεραλιζατιον
οφ ιτ. Ινδεεδ, ωε ηαϖε τηατ

δΙ1;Ι2;:::;Ιϕ � δΙ2;Ι1;:::;Ιϕ = Λ([�[Ι1]; �[Ι2]] � � � �[Ιϕ ])� [Ξ[Ι1]; Ξ[Ι2]] � � �Ξ[Ιϕ ]υ0(0)

=
Ξ

ϕΚϕ=ϕΙϕ+ϕϑϕ

βΚ
�
Λ(�[Κ]�[Ι3] � � � �[Ιϕ ])�Ξ[Κ]Ξ[Ι3] � � �Ξ[Ιϕ ]υ0(0)

�
= 0

βψ τηε ινδυχτιον ηψποτηεσισ (5). Νοω ωε αρε (αλµοστ) δονε, βεχαυσε ωε ηαϖε
σηοων τηατ τηε ριγητ−ηανδ σιδε οφ (6) δε�νεσ α σψµµετριχ ϕ−λινεαρ φορµ ον τηε
σπαν οφ φ

�
Ξ[Ι]

�
0
)γϕΙϕ�σ. Ασ ωε διδ φορ ϕ = 1, ωε χαν εξτενδ τηισ φορµ το Ρπ ανδ

τηεν �νδ α φυνχτιον ϖ 2 Χ1 (Ρπ) ϖανισηινγ οφ ορδερ ϕ ατ 0, ε.γ., α ϕ−τη δεγρεε
ηοµογενεουσ πολψνοµιαλ, συχη τηατ ιτσ ϕ−τη δι⁄ερεντιαλ ϖ(ϕ)(0) ατ 0 χοινχιδεσ
ωιτη τηε εξτενδεδ ϕ−λινεαρ φορµ. Τηισ χοµπλετεσ τηε προοφ.

Προποσιτιον 4 Λετ Ξ0; Ξ1; :::; Ξν βε φρεε οφ ωειγητ σ� 1 βυτ νοτ οφ ωειγητ σ ατ
0. Τηεν ονε χαν �νδ ϖεχτορ �ελδσ εΞϕ ιν Ρπ+1 οφ τηε φορµ

εΞϕ = Ξϕ + υϕ (ξ)
≅

≅τ
(ϕ = 0; 1; :::; ν) (7)

ωιτη υϕ 2 Χ
1 (Ρπ) ; συχη τηατ

1. τηε εΞϕ�σ ρεµαιν φρεε οφ ωειγητ σ� 1;
2. φορ εϖερψ ρ � σ;

διµ
∆�
εΞ[Ι]
�
0

Ε

ϕΙϕ�ρ
= διµ


�
Ξ[Ι]

�
0

�
ϕΙϕ�ρ

+ 1

ωηερε τηε σψµβολ ηΨ�ι�2Β δενοτεσ τηε ϖεχτορ σπαχε σπαννεδ βψ τηε ϖεχτορσ φΨ� : � 2 Βγ :

Προοφ. Λετ υσ σηοω τηατ χονδιτιον 1 ιν τηε αβοϖε στατεµεντ ηολδσ φορ ανψ χηοιχε
οφ τηε φυνχτιονσ υϕ (ξ) : Το σεε τηισ, ωε �ρστ χλαιµ τηατ (7) ιµπλιεσ

εΞ[Ι] = Ξ[Ι] + υΙ (ξ)
≅

≅τ
(8)

φορ ανψ µυλτιινδεξ Ι ανδ σοµε υΙ 2 Χ1 (Ρπ) : Ναµελψ, ωε χαν προχεεδ βψ
ινδυχτιον ον  (Ι) : Φορ  (Ι) = 1, τηισ ισ ϕυστ (7); ασσυµε (8) ηολδσ φορ  (Ι) = ϕ�1:
Φορ  (Ι) = ϕ; λετ Ι = (ι; ϑ) φορ σοµε ι = 0; 1; :::; ν ανδ  (ϑ) = ϕ � 1: Τηεν, βψ
ινδυχτιϖε ασσυµπτιον,

εΞ[Ι] = εΞ[ι;ϑ] =
η
εΞι; εΞ[ϑ]

ι
=

=

�
Ξι + υι (ξ)

≅

≅τ
;Ξ[ϑ] + υϑ (ξ)

≅

≅τ

�
=

=
�
Ξι; Ξ[ϑ]

�
+
�
Ξιυϑ �Ξ[ϑ]υι

� ≅
≅τ
=

= Ξ[Ι] + υΙ (ξ)
≅

≅τ
:
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Νεξτ, ωε σηοω τηατ (8) ιµπλιεσ τηατ τηε εΞι�σ αρε φρεε οφ ωειγητ σ� 1. Ιφ
Ξ

ϕΙϕ�σ�1

αΙ

�
εΞ[Ι]
�
0
= 0

φορ σοµε χοε′χιεντσ αΙ ; τηεν βψ (8) ωε ηαϖε

0 =
Ξ

ϕΙϕ�σ�1

αΙ

�
Ξ[Ι] + υΙ (ξ)

≅

≅τ

�

0

=

=
Ξ

ϕΙϕ�σ�1

αΙ
�
Ξ[Ι]

�
0
+

0
≅ Ξ

ϕΙϕ�σ�1

αΙυΙ (0)

1
Α ≅

≅τ
:

Σινχε ≅
≅τ ισ ινδεπενδεντ φροµ τηε ϖεχτορσ

�
Ξ[Ι]

�
0
; τηισ ιµπλιεσ τηατ

Π
ϕΙϕ�σ�1 αΙυΙ (0) =

0 ανδ Ξ

ϕΙϕ�σ�1

αΙ
�
Ξ[Ι]

�
0
= 0:

Βυτ τηε Ξι�σ αρε φρεε οφ ωειγητ σ� 1 ατ 0, ηενχε

Ξ

ϕΙϕ�σ�1

αΙΑΙϑ = 0 φορ ανψ ϑ ωιτη ϕϑ ϕ � σ� 1:

Τηερεφορε αλσο τηε εΞι�σ αρε φρεε οφ ωειγητ σ� 1 ατ 0:
Ωε νοω σηοω τηατ ιτ ισ ποσσιβλε το χηοοσε σµοοτη φυνχτιονσ υϕ συχη τηατ

χονδιτιον 2 ιν τηε στατεµεντ οφ τηισ προποσιτιον ηολδσ. Το σηοω τηισ, ωε ωιλλ
προϖε τηατ τηερε εξιστ φυνχτιονσ υϕ ανδ χονσταντσ φαΙγϕΙϕ�σ συχη τηατ:

Ξ

ϕΙϕ�σ

αΙ
�
Ξ[Ι]

�
0
= 0 (9)

Ξ

ϕΙϕ�σ

αΙ

�
εΞ[Ι]
�
0
6= 0 (10)

Φροµ (9)−(10), χονδιτιον 2 ωιλλ φολλοω; ναµελψ,

0 6=
Ξ

ϕΙϕ�σ

αΙ

�
εΞ[Ι]
�
0
=
Ξ

ϕΙϕ�σ

αΙ

��
Ξ[Ι]

�
0
+ υΙ (0)

≅

≅τ

�
=

0
≅Ξ

ϕΙϕ�σ

αΙυΙ (0)

1
Α ≅

≅τ
= β

≅

≅τ

ωιτη β 6= 0; ηενχε
≅

≅τ
=
Ξ

ϕΙϕ�σ

αΙ
β

�
εΞ[Ι]
�
0

ανδ τηισ σηοωσ τηατ

∆�
εΞ[Ι]
�
0

Ε
ϕΙϕ�ρ

=

�
Ξ[Ι]

�
0

�
�

�
≅

≅τ

�
;
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ωηιχη ιµπλιεσ χονδιτιον 2.
Το προϖε (9)−(10), ωε υσε ουρ ασσυµπτιον ον τηε Ξι: σινχε τηεψ αρε νοτ φρεε

οφ ωειγητ σ; τηερε εξιστ χοε′χιεντσ φαΙγϕΙϕ�σ συχη τηατ (9) ηολδσ βυτ

Ξ

ϕΙϕ�σ

αΙΑΙϑ 6= 0 φορ σοµε ϑ ωιτη ϕϑ ϕ � σ: (11)

Ιτ ρεµαινσ το προϖε τηατ τηερε εξιστ φυνχτιονσ υϕ συχη τηατ (10) ηολδσ φορ τηεσε
υϕ �σ ανδ αΙ �σ. Το δετερµινε τηεσε υϕ �σ, λετ υσ εξαµινε τηε αχτιον οφ τηε ϖεχτορ
�ελδ Ξ

ϕΙϕ�σ

αΙ εΞ[Ι] =
Ξ

ϕΙϕ�σ

αΙ
Ξ

ϕϑϕ�σ

ΑΙϑ εΞϑ

ον τηε φυνχτιον τ. Φορ ανψ ϑ ωιτη ϕϑ ϕ � σ; λετ υσ ωριτε ϑ = (ϑ 0ϕ) φορ σοµε
ϕ = 0; 1; :::; ν: Τηεν

εΞϑ τ = εΞϑ0 εΞϕτ = εΞϑ0
��
Ξϕ + υϕ

≅

≅τ

�
τ

�
= εΞϑ0υϕ = Ξϑ0υϕ

σινχε υϕ δοεσ νοτ δεπενδ ον τ. Ωε τηεν ηαϖε:

0
≅Ξ

ϕΙϕ�σ

αΙ εΞ[Ι] (τ)

1
Α (0) =

Ξ

ϕΙϕ�σ

αΙ
Ξ

ϕϑϕ�σ

ΑΙϑ
Ξ

ϕ=0;:::;ν; ϑ=(ϑ0ϕ)

(Ξϑ0υϕ) (0) :

Σινχε ϑ = (ϑ 0ϕ) ;

ϕϑ 0ϕ =

�
ϕϑ ϕ � 1 φορ ϕ = 1; 2; :::; ν
ϕϑ ϕ � 2 φορ ϕ = 0

ηενχε, ιν ανψ χασε, ϕϑ ϕ � σ ιµπλιεσ ϕϑ 0ϕ � σ� 1: Σινχε τηε Ξι�σ αρε φρεε οφ ωειγητ
σ�1 ατ 0, βψ Προποσιτιον 2 φορ ανψ χηοιχε οφ χονσταντσ φχϑ0γϕϑ0ϕ�σ�1 τηερε εξιστσ

α φυνχτιον υ 2 Χ1 (Ρπ) συχη τηατ (Ξϑ0υ) (0) = χϑ0 : Ον τηε οτηερ ηανδ, βψ (11),
τηερε εξιστσ α σετ οφ χονσταντσ φχϑγϕϑϕ�σ συχη τηατ

Ξ

ϕΙϕ�σ

Ξ

ϕϑϕ�σ

αΙΑΙϑχϑ 6= 0:

Σεττινγ χϕϑ0 = χϑ ιφ ϑ = (ϑ
0ϕ) ανδ αππλψινγ ν+1 τιµεσ Προποσιτιον 2 το τηε ν+1

σετσ οφ χονσταντσ
ν
χϕϑ0
ο
ϕϑ0ϕ�σ�1

; ϕ = 0; 1; 2; :::; ν; ωε �νδ υ0; υ1; :::; υν συχη τηατ

0
≅Ξ

ϕΙϕ�σ

αΙ εΞ[Ι] (τ)

1
Α (0) =

Ξ

ϕΙϕ�σ

Ξ

ϕϑϕ�σ

αΙΑΙϑχϑ 6= 0:

Ηενχε (10) ηολδσ. Τηισ χοµπλετεσ τηε προοφ οφ τηε προποσιτιον.
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Τηεορεµ 5 (Λιφτινγ) Λετ Ξ0; Ξ1; :::; Ξν βε ϖεχτορ �ελδσ σατισφψινγ Ηρµαν−
δερ�σ χονδιτιον οφ στεπ ρ ατ ξ = 0: τηε ϖεχτορσ

��
Ξ[Ι]

�
0

	
ϕΙϕ�ρ

σπαν Ρπ. (Τηισ χλεαρλψ ιµπλιεσ τηατ συχη προπερτψ ηολδσ ιν α συιταβλε νειγηβορηοοδ

οφ 0). Τηεν τηερε εξιστ αν ιντεγερ µ ανδ ϖεχτορ �ελδσ εΞκ ιν Ρπ+µ, οφ τηε φορµ

εΞκ = Ξκ +
µΞ

ϕ=1

υκϕ (ξ; τ1; τ2; :::; τϕ�1)
≅

≅τϕ

(κ = 0; 1; :::; ν) ; ωηερε τηε υκϕ�σ αρε πολψνοµιαλσ, συχη τηατ τηε εΞκ�σ αρε φρεε οφ
ωειγητ ρ ανδ

ν�
εΞ[Ι]
�
0

ο

ϕΙϕ�ρ
σπαν Ρπ+µ:

Τηισ τηεορεµ ηασ αν οβϖιουσ ρεφορµυλατιον ιν ανψ ποιντ ξ0 2 Ρ
π; ωιτη τηε

λιφτεδ ϖεχτορ �ελδσ δε�νεδ ιν α νειγηβορηοοδ οφ (ξ0; 0) 2 Ρ
π+µ:

Προοφ. Λετ
��
Ξ[Ι]

�
0

	
Ι2Β

βε α βασισ οφ Ρπ; φορ σοµε σετ Β οφ π µυλτιινδιχεσ οφ

ωειγητ � ρ: Ωε χλαιµ τηατ

ρανκ [ΑΙϑ ]Ι2Β;ϕϑϕ�ρ � π;

βεχαυσε τηε π ϖεχτορσ (ΑΙϑ)ϕϑϕ�ρ, ωιτη Ι 2 Β, αρε ινδεπενδεντ. Ναµελψ, ιφ φορ

σοµε χονσταντσ φαΙγΙ2Β

Ξ

Ι2Β

αΙΑΙϑ = 0 φορ ανψ ϑ ωιτη ϕϑ ϕ � ρ;

τηεν

Ξ

Ι2Β

αΙ
�
Ξ[Ι]

�
0
=
Ξ

Ι2Β

αΙ
Ξ

ϕϑϕ�ρ

ΑΙϑ (Ξϑ)0 =
Ξ

ϕϑϕ�ρ

 
Ξ

Ι2Β

αΙΑΙϑ

!
(Ξϑ)0 = 0:

Βυτ
��
Ξ[Ι]

�
0

	
Ι2Β

ισ α βασισ, ηενχε
Π

Ι2Β αΙ
�
Ξ[Ι]

�
0
= 0 ιµπλιεσ αΙ = 0 φορ ανψ

Ι 2 Β.
Τηε ρελατιον ϕυστ προϖεδ µεανσ τηατ

π � ρανκ [ΑΙϑ ]ϕΙϕ;ϕϑϕ�ρ � χ (ρ; ν) ; (12)

αν αβσολυτε χονσταντ ονλψ δεπενδινγ ον ρ; ν.
Νοω, λετ σ � ρ βε συχη τηατ Ξ0; Ξ1; :::; Ξν αρε φρεε οφ ωειγητ σ�1 βυτ νοτ οφ

ωειγητ σ, ατ 0. (Ιφ τηε Ξι�σ ωερε αλρεαδψ φρεε οφ ωειγητ ρ, τηερε ωουλδ βε νοτηινγ
το προϖε. Ωε αλσο αγρεε το σαψ τηατ τηε Ξι�σ αρε φρεε οφ ωειγητ 0 ιφ τηεψ αρε νοτ
φρεε οφ ωειγητ 1). Ωε χαν τηεν αππλψ Προποσιτιον 4 ανδ βυιλδ ϖεχτορ �ελδσ

εΞϕ = Ξϕ + υϕ (ξ)
≅

≅τ
(ϕ = 0; 1; :::; ν)
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ιν Ρπ+1; φρεε οφ ωειγητ σ� 1 ανδ συχη τηατ

διµ
∆�
εΞ[Ι]
�
0

Ε
ϕΙϕ�ρ

= διµ

�
Ξ[Ι]

�
0

�
ϕΙϕ�ρ

+ 1 = π+ 1

(βεχαυσε βψ ασσυµπτιον τηε
��
Ξ[Ι]

�
0

	
ϕΙϕ�ρ

σπαν Ρπ). Ηενχε τηε
ν�
εΞ[Ι]
�
0

ο
ϕΙϕ�ρ

στιλλ σπαν τηε ωηολε σπαχε Ρπ+1: Νοω: ειτηερ τηε ϖεχτορ �ελδσ
ν�
εΞ[Ι]
�
0

ο
ϕΙϕ�ρ

αρε φρεε οφ ωειγητ ρ, ανδ ωε αρε δονε, ορ τηε ασσυµπτιονσ οφ Προποσιτιον 4 αρε
στιλλ σατισ�εδ, ανδ ωε χαν ιτερατε ουρ αργυµεντ; ιν τηισ χασε, βψ (12), χονδιτιον
π + 1 � χ (ρ; ν) µυστ ηολδ. Αφτερ α συιταβλε �νιτε νυµβερ µ οφ ιτερατιονσ,
χονδιτιον π+µ � χ (ρ; ν) χαννοτ ηολδ ανψµορε, ανδ τηισ µεανσ τηατ τηε ϖεχτορ

�ελδσ εΞϕ µυστ βε φρεε οφ ωειγητ ρ. Τηε ιτερατιϖε αργυµεντ αλσο σηοωσ τηατ τηε
υκϕ �σ αρε πολψνοµιαλσ ονλψ δεπενδινγ ον τηε ϖαριαβλεσ ξ; τ1; τ2; :::; τϕ�1.

2 Αππροξιµατιον οφ φρεε σµοοτη ϖεχτορ �ελδσ

Ιν τηισ σεχτιον ωε χαρρψ ουτ τηε σεχονδ παρτ οφ Ροτησχηιλδ−Στειν�σ προχεδυρε,
τηατ ισ, τηε αππροξιµατιον οφ φρεε ϖεχτορ �ελδσ βψ λεφτ ινϖαριαντ ϖεχτορ �ελδσ ον
α ηοµογενεουσ γρουπ. Ηερε ωε χονχεντρατε ον σµοοτη ϖεχτορ �ελδσ, ωηιλε τηε
νονσµοοτη τηεορψ ωιλλ βε τρεατεδ ιν Σεχτιον 3. Ωε αχτυαλλψ προϖε α σοµεωηατ
µορε γενεραλ ρεσυλτ τηαν τηατ βψ Ροτησχηιλδ−Στειν, ιν τηε λινε οφ [11]. Ιν ♣2.5,
ωε ωιλλ αλσο προϖε, φορ φρεε ϖεχτορ �ελδσ, α βαλλ−βοξ τηεορεµ ανδ τηε ρεσυλτινγ
εστιµατε ον τηε ϖολυµε οφ µετριχ βαλλσ, ιν τηε σπιριτ οφ Ναγελ−Στειν−Ωαινγερ�σ
ρεσυλτσ.
Βψ τηε λιφτινγ τηεορεµ (Τηεορεµ 5), σταρτινγ φροµ ανψ σψστεµ οφ σµοοτη

Ηρµανδερ�σ ϖεχτορ �ελδσ ιν Ρπ ωε χαν δε�νε νεω ϖεχτορ �ελδσ εΞ0; : : : ; εΞν ιν α
νειγηβορηοοδ οφ 0 2 Ρπ+µ, φρεε υπ το ωειγητ ρ ατ 0 ανδ συχη τηατ

ν
εΞ[Ι] (0)

ο
ϕΙϕ�σ

σπανσ Ρπ+µ: ϑυστ το σιµπλιφψ νοτατιον, τηρουγηουτ τηισ σεχτιον ωε ωιλλ κεεπ
χαλλινγ Ξι ανδ Ρ

π τηεσε λιφτεδ φρεε ϖεχτορ �ελδσ ανδ τηειρ υνδερλψινγ σπαχε,
ρεσπεχτιϖελψ.

Τηερεφορε, λετ νοω Ξ0; Ξ1; :::; Ξν βε α σψστεµ οφ σµοοτη Ηρµανδερ�σ ϖεχτορ
�ελδσ ιν 
 � Ρπ, φρεε υπ το ωειγητ ρ ανδ σατισφψινγ Ηρµανδερ�σ χονδιτιον οφ στεπ
ρ ιν 
. Σινχε τηε Ξι�σ αρε φρεε, ιτ ισ ποσσιβλε το χηοοσε α σετ Β οφ π µυλτιινδιχεσ
Ι ωιτη ϕΙϕ � ρ; συχη τηατ

�
Ξ[Ι]

	
Ι2Β

ισ α βασισ οφ Ρπ ατ ανψ ποιντ ξ 2 
: Ωε
ασσυµε τηισ σετ Β �ξεδ ονχε ανδ φορ αλλ.

2.1 Χανονιχαλ χοορδινατεσ ανδ ωειγητσ οφ ϖεχτορ �ελδσ

Λετ υσ ρεχαλλ τηε στανδαρδ δε�νιτιον οφ εξπονεντιαλ οφ α ϖεχτορ �ελδ. Ωε σετ:

εξπ (τΞ) (ξ) = ∋ (τ)
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ωηερε ∋ ισ τηε σολυτιον το τηε Χαυχηψ προβλεµ

�
∋0 (�) = Ξ∋(�)
∋ (0) = ξ

(13)

Τηε ποιντ εξπ (τΞ) (ξ) ισ υνιθυελψ δε�νεδ φορ τ 2 Ρ σµαλλ ενουγη, ασ σοον ασ Ξ
ηασ Λιπσχηιτζ χοντινυουσ χοε′χιεντσ, βψ τηε χλασσιχαλ Χαυχηψ�σ τηεορεµ αβουτ
εξιστενχε ανδ υνιθυενεσσ φορ σολυτιονσ το Χαυχηψ προβλεµσ. Φορ α �ξεδ 
0 β 
;
α τ−νειγηβορηοοδ οφ ζερο ωηερε εξπ (τΞ) (ξ) ισ δε�νεδ χαν βε φουνδ υνιφορµλψ
φορ ξ ρανγινγ ιν 
0.
Εθυιϖαλεντλψ, ωε χαν ωριτε

εξπ (τΞ) (ξ) = � (1)

ωηερε � ισ τηε σολυτιον το τηε Χαυχηψ προβλεµ

�
�0 (�) = τΞ�(�)
� (0) = ξ:

Νοω, φορ ανψ ξ 2 
; λετ υσ ιντροδυχε τηε σετ οφ λοχαλ (�χανονιχαλ�) χοορδινατεσ

Ρ
π
� υ 7�! εξπ

 
Ξ

Ι2Β

υΙΞ[Ι]

!
(ξ) ; (14)

δε�νεδ φορ υ ιν α συιταβλε νειγηβορηοοδ οφ 0: Νοτε τηατ τηε ϑαχοβιαν οφ τηε
µαπ υ 7�! ξ; ατ υ = 0; εθυαλσ τηε µατριξ οφ τηε ϖεχτορ �ελδσ

��
Ξ[Ι]

�
ξ

	
Ι2Β

;

τηερεφορε ισ νονσινγυλαρ. Τηισ αλλοωσ το δε�νε χανονιχαλ χοορδινατεσ ιν α συιταβλε
νειγηβορηοοδ Υ (ξ) οφ ξ.
Σινχε τηε βασισ

��
Ξ[Ι]

�
ξ

	
Ι2Β

δεπενδσ χοντινυουσλψ ον τηε ποιντ ξ; τηε ραδιυσ

οφ τηισ νειγηβορηοοδ χαν βε τακεν υνιφορµλψ βουνδεδ αωαψ φροµ ζερο φορ ξ
ρανγινγ ιν α χοµπαχτ σετ.
Ηενχεφορτη ιν τηισ σεχτιον, αλλ τηε χοµπυτατιον ωιλλ βε µαδε ωιτη ρεσπεχτ το

τηισ σψστεµ οφ χοορδινατεσ δε�νεδ ιν α νειγηβορηοοδ οφ τηε ποιντ ξ (ωηιχη ηασ
χανονιχαλ χοορδινατεσ υ = 0).
Ουρ αιµ ισ το εσταβλιση σοµε βασιχ προπερτιεσ ενϕοψεδ βψ τηε ϖεχτορ �ελδσ

Ξ[Ι]; ιφ τηεψ αρε εξπρεσσεδ ωιτη ρεσπεχτ το χανονιχαλ χοορδινατεσ, ιν παρτιχυλαρ
Τηεορεµ 9, ωηιχη ωιλλ βε α κεψ τοολ φορ τηε φολλοωινγ.
Ωε σταρτ ωιτη τηε φολλοωινγ:

Λεµµα 6 Ιφ ωε εξπρεσσ τηε ϖεχτορ �ελδσ Ξ[Ι] ωιτη ρεσπεχτ το τηε αβοϖε χοορδι−
νατεσ υ, τηεν ωε ηαϖε τηατ

Ξ

Ι2Β

υΙ
≅

≅υΙ
=
Ξ

Ι2Β

υΙΞ[Ι]: (15)

(Ιν τηε φολλοωινγ, ωε ωιλλ αλσο ωριτε εΙ φορ
≅
≅υΙ
).
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Προοφ. Ωε σταρτ νοτινγ τηατ, Ιφ Ψ =
Π

Ι2Β ψΙ (υ)
≅
≅υΙ

ανδ Ζ =
Π

Ι2Β ζΙ (υ)
≅
≅υΙ

αρε τωο ϖεχτορ �ελδσ συχη τηατ

Ζ (υϑ) = Ψ (υϑ) φορ ανψ ϑ 2 Β;

(τηατ ισ, τηε ϖεχτορ �ελδσ αχτ ατ τηε σαµε ωαψ ον τηε φυνχτιονσ υ 7! υϑ) τηεν
ψΙ (υ) = ζΙ (υ) φορ ανψ Ι 2 Β; ηενχε Ψ = Ζ. Τηερεφορε, ιτ ωιλλ βε ενουγη το
σηοω τηατ  

Ξ

Ι2Β

υΙΞ[Ι]

!
(υϑ) =

 
Ξ

Ι2Β

υΙ
≅

≅υΙ

!
(υϑ) .

Νοω, φορ ανψ ϖεχτορ �ελδ Ψ;

Ψ φ (ξ) =
δ

δτ
(φ (εξπ (τΨ ) (ξ)))=τ=τ0 ωηερε ξ = εξπ (τ0Ψ ) (χ) .

Ηενχε, ιφ Ψ =
Π

Ι2Β υΙΞ[Ι], τηεν

 
Ξ

Ι2Β

υΙΞ[Ι]

!
(υϑ) =

δ

δτ

 
υϑ

 
εξπ

 
τ
Ξ

Ι2Β

υΙΞ[Ι]

!
(ξ)

!!

=τ=τ0

ϕυστ βψ δε�νιτιον οφ τηε χοορδινατεσ υΙ

=
δ

δτ
(τυϑ)=τ=τ0 = υϑ =

 
Ξ

Ι2Β

υΙ
≅

≅υΙ

!
(υϑ) :

∆ε�νιτιον 7 (Ωειγητσ) Ωε νοω ασσιγν τηε ωειγητ ϕΙϕ το τηε χοορδινατε υΙ
ανδ τηε ωειγητ � ϕΙϕ το ≅

≅υΙ
. (Νοτε τηατ τηισ ισ τηε χονϖεντιον µαδε ιν [11], ανδ

ισ δι⁄ερεντ φροµ τηατ µαδε ιν [7] ανδ [14]: ιν τηε λαστ τωο παπερσ, τηε αυτηορσ
ασσιγν ποσιτιϖε ωειγητ αλσο το δεριϖατιϖεσ). Ιν τηε φολλοωινγ ωε ωιλλ σαψ τηατ α
Χ1 φυνχτιον φ ηασ ωειγητ > σ ιφ τηε Ταψλορ εξπανσιον οφ φ ατ τηε οριγιν δοεσ νοτ
ινχλυδε τερµσ οφ τηε κινδ αυΙ1υΙ2 � � �υΙκ ωιτη α 6= 0 ανδ ϕΙ1ϕ+ϕΙ2ϕ+: : :+ϕΙκϕ < σ.
Α ϖεχτορ �ελδ Ψ =

Π
Ι2Β φΙεΙ ηασ ωειγητ > σ ιφ φΙ ηασ ωειγητ > σ + ϕΙϕ φορ

εϖερψ Ι 2 Β.

Νοτε τηατ τηε ωειγητ οφ α φυνχτιον ισ αλωαψσ � 0, ωηιλε τηε ωειγητ οφ α ϖεχτορ
�ελδ ισ � �ρ; ωηερε ρ ισ ασ αβοϖε.
Ωε ωαντ το στρεσσ τηατ τηε δε�νιτιον οφ ωειγητ ρελιεσ ον τηε χανονιχαλ χοορ−

δινατεσ, τηερεφορε ιτ δεπενδσ ον τηε χηοιχε οφ α παρτιχυλαρ βασισ Β οφ Ρπ:
Ιν τηε φολλοωινγ ωε σηαλλ δενοτε ωιτη Φ θσ τηε σετ οφ φυνχτιονσ συχη τηατ ιν

τηειρ Ταψλορ εξπανσιον οφ δεγρεε 6 θ (ιν τηε στανδαρδ σενσε), αλλ τερµσ ηαϖε
ωειγητ � σ. Αλσο ς θσ ωιλλ δενοτε τηε σετ οφ τηε ϖεχτορ �ελδσ ωιτη α σιµιλαρ
προπερτψ. Τηε συβσετ οφ Φ θσ ανδ ς

θ
σ οφ ελεµεντσ τηατ ϖανιση ατ υ = 0 ωιλλ βε

δενοτεδ βψ �Φ θσ ανδ
�ς θσ :
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Λεµµα 8 Τηε φολλοωινγ ινχλυσιονσ ηολδ

Φ θσ Φ
θ
τ � Φ

θ
σ+τ

�Φ θσ Φ
θ�1
τ � �Φ θσ+τ

Φ θσ ς
θ
τ � ς

θ
σ+τ

�Φ θσ ς
θ�1
τ � �ς θσ+τ Φ θ�1σ

�ς θτ � �ς
θ
σ+τ

ς θ�1σ (Φ θσ ) � ς
θ�1
σ+τ

�ς θσ (Φ
θ
τ ) � �Φ θσ+τ

[ς θσ ; ς
θ
τ ] � ς

θ�1
σ+τ

η
�ς θσ ; ς

θ�1
τ

ι
� ς θ�1σ+τ

ωιτη τηε οβϖιουσ µεανινγ οφ τηε σψµβολσ.

Προοφ. Ιφ φ 2 Φ θσ ανδ γ 2 Φ
θ
τ , τηεν αλλ τερµσ οφ τηε προδυχτ οφ τηειρ Ταψλορ

εξπανσιον οφ δεγρεε 6 θ ηαϖε ωειγητ � σ+ τ. Τηερεφορε, τηε σαµε ισ τρυε φορ τηε
Ταψλορ εξπανσιον οφ δεγρεε 6 θ οφ φγ, σο τηατ φγ 2 Φ θσ+τ. Τηισ σηοωσ τηατ τηε
�ρστ ινχλυσιον ηολδσ, ανδ τηε σεχονδ ονε ισ αν ιµµεδιατε χορολλαρψ. Τηε οτηερ
ινχλυσιονσ χαν βε προϖεδ βψ µεανσ οφ σιµιλαρ αργυµεντσ.
Φορ ανψ ϖεχτορ �ελδ Ξ[ϑ] ωιτη ϕϑ ϕ � σ; ωε χαν εξπρεσσ Ξ[ϑ] ιν τερµσ οφ τηε

βασισ
�
Ξ[Ι]

	
Ι2Β

; ωριτινγ

Ξ[ϑ] =
Ξ

Ι2Β

χϑΙ (υ)Ξ[Ι]

φορ συιταβλε φυνχτιονσ χϑΙ :

Τηεορεµ 9 Φορ εϖερψ µυλτιινδιχεσ Ι τηε ϖεχτορ �ελδ Ξ[Ι] ηασ ωειγητ > � ϕΙϕ :

Προοφ. Τηρουγηουτ τηε προοφ ωε ωιλλ ασσυµε τηε Ξ[Ι] ωριττεν ιν χανονιχαλ
χοορδινατεσ. Ιν παρτιχυλαρ, τηε ποιντ ξ χορρεσπονδσ το υ = 0: Ωε σηαλλ προϖε βψ
ινδυχτιον ον θ > 0 τηε φολλοωινγ τωο φαχτσ:

ι) Φορ εϖερψ µυλτιινδεξ Ι ωε ηαϖε Ξ[Ι] 2 ς
θ
�ϕΙϕ;

ιι) Φορ εϖερψ ποσιτιϖε ιντεγερ �, ιφ φορ εϖερψ µ 6 θ + 1 ανδ φορ εϖερψ µυλτι−
ινδιχεσ Ι1; : : : Ιµ 2 Β συχη τηατ ϕΙ1ϕ+: : : ϕΙµϕ < � ωε ηαϖεΞ[Ιµ] � � �Ξ[Ι1]φ (0) =
0, τηεν φ 2 Φ θ+1� .

Φιρστ οφ αλλ ωε οβσερϖε τηατ ιτ ισ ενουγη το σηοω τηατ Ξ[Ι] 2 ς θ�ϕΙϕ ωηεν

Ι 2 Β. Ινδεεδ λετ υσ �ξ α χερταιν θ > 0 ανδ ασσυµε το κνοω τηατ Ξ[Ι] 2 ς
θ
�ϕΙϕ

φορ εϖερψ Ι 2 Β ανδ τηατ ιι) ηολδσ. Λετ ϑ βε α µυλτιινδεξ, ϑ =2 Β. Τηεν

Ξ[ϑ] =
Ξ

Ι2Β

χϑΙΞ[Ι]:

Σινχε τηε ϖεχτορ �ελδσ Ξ0; Ξ1; :::; Ξν αρε φρεε υπ το στεπ ρ, ωε χαν ασσυµε τηατ
ιν τηε λαστ συµ χϑΙ ισ νονζερο ονλψ ιφ ϕΙϕ = ϕϑ ϕ : Φορ τηεσε χονσταντσ χϑΙ ωε τηεν
ηαϖε

Ξ[ϑ] =
Ξ

Ι2Β;ϕΙϕ=ϕϑϕ

χϑΙΞ[Ι];

ωηιχη σηοωσ τηατ ιτ ισ ενουγη το προϖε ι) φορ Ι 2 Β:
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Λετ νοω θ = 0. Οβσερϖε τηατ χοµποσινγ τηε οπερατορ αδ εΙ ωιτη (15) ωε γετ

Ξ[Ι] +
Ξ

Κ2Β

υΚ αδ εΙ
�
Ξ[Κ]

�
= εΙ (16)

Τηισ ιµπλιεσ
�
Ξ[Ι]

�
0
= εΙ ανδ τηερεφορε τηατ Ξ[Ι] 2 ς

0
�ϕΙϕ. Ασσυµε νοω τηατ

φ (0) = 0 ανδ τηατ φορ εϖερψ µυλτιινδεξ Ι 2 Β; ϕΙϕ < � ωε ηαϖε Ξ[Ι]φ (0) = 0.

Σινχε Ξ[Ι]φ (0) =
≅φ
≅υΙ

(0) ωε ηαϖε φ 2 Φ 1�.
Ασσυµε νοω τηατ ι) ανδ ιι) ηολδ φορ α χερταιν θ ανδ λετ υσ προϖε τηατ τηε

σαµε ισ τρυε ωιτη θ ρεπλαχεδ βψ θ + 1. Ωε σταρτ ωιτη ι). Ωε χλαιµ τηατ ιτ ισ
ενουγη το σηοω τηατ

Ω = αδΞ[ϑ] (εΙ) 2 ς
θ
�ϕΙϕ�ϕϑϕ

Ινδεεδ, υΚ αδ εΙ
�
Ξ[Κ]

�
2 ς θ+1�ϕΙϕ βψ Λεµµα 8, ανδ σινχε εΙ 2 ς

θ+1
�ϕΙϕ βψ (16) ωε

ηαϖε Ξ[Ι] 2 ς
θ+1
�ϕΙϕ .

Ιν ορδερ το σηοω τηατ Ω 2 ς θ�ϕΙϕ�ϕϑϕ ωε χοµποσε αδΞ[ϑ] ωιτη (16). Τηισ

ψιελδσ

αδΞ[ϑ]εΙ =Ω = αδΞ[ϑ]Ξ[Ι] +
Ξ

Κ2Β

υΚ αδΞ[ϑ] αδ εΙ
�
Ξ[Κ]

�
+ (17)

+
Ξ

Κ2Β

Ξ[ϑ] (υΚ) αδ εΙ
�
Ξ[Κ]

�
:

Φροµ (16) ωε αλσο γετ Ξ[ϑ] (υΚ) = �ϑΚ �
Π

Λ2Β υΛ αδ εϑ
�
Ξ[Λ]

�
(υΚ). Σινχε

αδ εϑ
�
Ξ[Λ]

�
2 ς θ�1�ϕϑϕ�ϕΛϕ ωε ηαϖε υΛ αδ εϑ

�
Ξ[Λ]

�
2 �ς θ�ϕϑϕ ανδ τηερεφορε

υΛ αδ εϑ
�
Ξ[Λ]

�
(υΚ) 2 �Φ

θ
�ϕϑϕ+ϕΚϕ:

Τηισ ιµπλιεσ τηατ τηε σεχονδ συµµατιον ιν (17) ισ χονγρυεντ το αδ εΙ
�
Ξ[ϑ]

�
=

�Ω µοδυλο �ς θ�ϕϑϕ�ϕΙϕ. Βψ ϑαχοβι ιδεντιτψ (σεε τηε προοφ οφ Προποσιτιον 3)

αδΞ[ϑ]Ξ[Ι] =
Ξ

ϕΛϕ=ϕϑϕ+ϕΙϕ

χΛΞ[Λ]

φορ συιταβλε χοε′χιεντσ χΛ. Τηισ ιµπλιεσ αδΞ[ϑ]Ξ[Ι] 2 ς
θ
�ϕϑϕ�ϕΙϕ. Ηενχε

Ω � �Ω +
Ξ

Κ2Β

υΚ αδΞ[ϑ] αδ εΙ
�
Ξ[Κ]

�
µοδς θ�ϕϑϕ�ϕΙϕ: (18)

Σινχε

υΚ αδΞ[ϑ] αδ εΙ
�
Ξ[Κ]

�
= �υΚ αδΞ[ϑ] αδΞ[Κ] (εΙ) =

= �υΚ αδΞ[Κ] αδΞ[ϑ] (εΙ)� υΚ αδ
�
Ξ[Κ]; Ξ[ϑ]

�
(εΙ)

ωε ηαϖε

υΚ αδΞ[ϑ] αδ εΙ
�
Ξ[Κ]

�
� �υΚ αδΞ[Κ] αδΞ[ϑ] (εΙ) µοδς

θ
�ϕΙϕ�ϕϑϕ:
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Βψ ϑαχοβψ ιδεντιτψ ανδ συβστιτυτινγ ιν (18) ωε οβταιν

2Ω = �
Ξ

Κ

υΚ αδΞ[Κ] (Ω ) µοδς
θ
�ϕΙϕ�ϕϑϕ:

Ωε νοω υσε (15) το ρεπλαχε Ξ[Κ] βψ εΚ . Ινδεεδ ωε ηαϖε

Ξ

Κ

υΚ αδΞ[Κ] (Ω ) =
Ξ

Κ

αδ
�
υΚΞ[Κ]

�
(Ω ) +

Ξ

Κ

Ω (υκ)Ξ[Κ]

= αδ

 
Ξ

Κ

υΚΞ[Κ]

!
(Ω ) +

Ξ

Κ

Ω (υκ)Ξ[Κ]

= αδ

 
Ξ

Κ

υΚεΚ

!
(Ω ) +

Ξ

Κ

Ω (υκ)Ξ[Κ]

=
Ξ

Κ

υΚ αδ (εΚ) (Ω ) +
Ξ

Κ

Ω (υΚ)
�
Ξ[Κ] � εΚ

�
:

Σινχε Ω = αδΞ[ϑ]εΙ 2 ς
θ�1
�ϕΙϕ�ϕϑϕ ωε ηαϖε Ω (υΚ) 2 Φ

θ�1
ϕΚϕ�ϕΙϕ�ϕϑϕ: Αλσο, σινχε

Ξ[Κ] � εΚ 2 �ς
θ
�ϕΚϕ ωε ηαϖε Ω (υΚ)

�
Ξ[Κ] � εΚ

�
2 ς θ�ϕΙϕ�ϕϑϕ. Ηενχε

ΤΩ 2 ς θ�ϕΙϕ�ϕϑϕ

ωηερε ωε σετ ΤΩ = 2Ω +
Π

Κ υΚ αδ (εΚ) (Ω ). Ωε χλαιµ τηατ τηισ ιµπλιεσ τηατ
Ω 2 ς θ�ϕΙϕ�ϕϑϕ. Το σεε τηισ, ωριτε Ω =

Π
Λ φΛεΛ. Τηεν

ΤΩ = 2
Ξ

Λ

φΛεΛ +
Ξ

Λ;Κ

υΚ [εΚ ; φΛεΛ] =

= 2
Ξ

Λ

φΛεΛ +
Ξ

Λ;Κ

υΚ
≅φΛ
≅υΚ

εΛ =
Ξ

Λ

 
2φΛ +

Ξ

Κ

υΚ
≅φ

≅υΚ

!
εΛ:

Λετ γ βε α ηοµογενεουσ φυνχτιον οφ δεγρεε �, τηεν
Π

Κ υΚ
≅γ
≅υΚ

= �γ ωηιχη

σηοωσ τηατ τηε οπερατορ φ 7! 2φ +
Π

Κ υΚ
≅φ
≅υΚ

αχτσ ον τηε Ταψλορ εξπανσιον
οφ α φυνχτιον µυλτιπλψινγ α τερµ οφ δεγρεε � βψ (2 + �). Τηισ ιµπλιεσ τηατ
Ω 2 ς θ�ϕΙϕ�ϕϑϕ.

Νοω ωε ωιλλ σηοω τηατ αλσο ιι) ηολδσ ωιτη θ ρεπλαχεδ βψ θ + 1. Ωε ηαϖε το
σηοω τηατ ιφ φορ εϖερψ µ 6 θ + 2 ανδ φορ εϖερψ µυλτιινδιχεσ Ι1; : : : Ιµ 2 Β συχη
τηατ ϕΙ1ϕ+ : : : ϕΙµϕ < � ωε ηαϖε Ξ[Ιµ] � � �Ξ[Ι1]φ (0) = 0; τηεν φ 2 Φ

θ+2
� . Βψ τηε

δε�νιτιον οφ τηε χλασσ Φ θ+2� τηισ αµουντσ το σηοωινγ τηατ εΙµ � � � εΙ1φ (0) = 0
φορ εϖερψ µ 6 θ + 2 ανδ εϖερψ Ι1; : : : Ιµ 2 Β συχη τηατ ϕΙ1ϕ+ : : : ϕΙµϕ < �.
Βψ τηε ινδυχτιον ηψποτηεσισ φ 2 Φ θ+1� , ωε αλρεαδψ κνοω τηατ φορ εϖερψ

Ι 2 Βξ ωε ηαϖε Ξ[Ι] 2 ς
θ+1
�ϕΙϕ . Βψ (16) ωε ηαϖε

εΙ1φ = Ξ[Ι1]φ + γ1
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ωιτη γ1 =
Π

Κ2Β υΚ αδ εΙ1
�
Ξ[Κ]

�
φ . Βψ Λεµµα 8 ωε ηαϖε γ1 2 Φ

θ+1
��ϕΙ1ϕ

. Ιτερ−

ατινγ τηισ αργυµεντ ψιελδσ

εΙµ���εΙ1φ = Ξ[Ιµ] � � �Ξ[Ι1]φ + γµ

ωιτη γµ 2 Φ
θ+2�µ
��(ϕΙ1ϕ+���+ϕΙµϕ)

. Σινχε � > ϕΙ1ϕ+ � � �+ ϕΙµϕ τηισ ιµπλιεσ γµ (0) = 0

ανδ τηερεφορε τηατ εΙµ���εΙ1φ (0) = 0.

2.2 Ποιντωισε αππροξιµατιον

Ασ ιν τηε πρεϖιουσ συβσεχτιον, ωε ασσυµε τηατ τηε Ξι�σ αρε φρεε ανδ α βασισ��
Ξ[Ι]

�
ξ

	
Ι2Β

φορ Ρπ ισ χηοσεν ονχε ανδ φορ αλλ; τηισ χηοιχε ινδυχεσ α σψστεµ οφ

χανονιχαλ χοορδινατεσ υ νεαρ ξ συχη τηατ
Ξ

Ι2Β

υΙεΙ =
Ξ

Ι2Β

υΙΞ[Ι] (19)

(ωηερε εΙ =
≅
≅υΙ
) ανδ τηατ φορ εϖερψ µυλτιινδεξ Ι τηε ϖεχτορ �ελδ Ξ[Ι] ηασ ωειγητ

� � ϕΙϕ.
Ωε χαν νοω προϖε Ροτησχηιλδ−Στειν�σ αππροξιµατιον τηεορεµ φορ φρεε ωειγητεδ

ϖεχτορ �ελδσ:

Τηεορεµ 10 (Αππροξιµατιον, ποιντωισε ϖερσιον) Ιφ Ψ0; Ψ1; : : : ; Ψν ισ αν−
οτηερ σψστεµ οφ ϖεχτορ �ελδσ σατισφψινγ (ωιτη ρεσπεχτ το τηε σαµε χανονιχαλ χοορ−
δινατεσ) Ξ

Ι2Β

υΙεΙ =
Ξ

Ι2Β

υΙΨ[Ι] ; (20)

τηεν Ξ[Ι] � Ψ[Ι] ηασ ωειγητ � 1� ϕΙϕ.

(Ιν παρτιχυλαρ, φορ Ι = (ι) ωε ηαϖε τηατ Ξ0 � Ψ0 ηασ ωειγητ � �1 ωηιλε
Ξι � Ψι ηασ ωειγητ � 0 φορ ι = 1; 2; :::; ν).
Προοφ. Τηε προοφ εξπλοιτσ τηε σαµε τεχηνιθυεσ ασ ιν τηε προοφ οφ Τηεορεµ 9.
Λετ υσ ρεχαλλ τηατ ωε αρε νοω ωορκινγ ιν χανονιχαλ χοορδινατεσ. Ωε σηαλλ προϖε
βψ ινδυχτιον ον θ τηατ

Ξ[Ι] � Ψ[Ι] 2 ς
θ
1�ϕΙϕ: (21)

Οβσερϖε τηατ τηισ ισ οβϖιουσ ωηεν ϕΙϕ > σ. Ινδεεδ, εϖερψ ϖεχτορ �ελδ Ζ =Π
ϑ2Β φϑεϑ ηασ α ωειγητ > �σ σινχε ιφ ϑ 2 Β τηεν ϕϑ ϕ 6 σ. Νεξτ ωε προϖε τηατ

ιτ ισ ενουγη το σηοω (21) ωηεν Ι 2 Β.
Ινδεεδ, λετ Ι βε ανψ µυλτιινδεξ οφ ωειγητ 6 σ. Τηεν σινχε

��
Ξ[ϑ]

�
ξ

	
ϑ2Β

σπανσ Ρπ τηερε εξιστ χοε′χιεντσ χΙϑ συχη τηατ

�
Ξ[Ι]

�
ξ
=
Ξ

ϑ2Β

χΙϑ
�
Ξ[ϑ]

�
ξ
:

Λετ αϑ = �Ιϑ � χΙϑ ωηερε ωε ασσυµε τηατ χΙϑ = 0 ιφ ϑ =2 Β. Τηεν
Ξ

αϑ
�
Ξ[ϑ]

�
ξ
= 0:
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Σινχε τηε ϖεχτορ �ελδσ αρε φρεε οφ ωειγητ σ τηισ ιµπλιεσ τηατ φορ εϖερψ Κ

Ξ

ϑ

αϑΑϑΚ = 0:

Τηερεφορε, φορ ανψ φαµιλψ οφ ϖεχτορ �ελδσ Ζι ωε ηαϖε

0 =
Ξ

Κ; ϕΚϕ=ϕΙϕ

Ξ

ϑ

αϑΑϑΚΖΚ =
Ξ

ϑ; ϕϑϕ=ϕΙϕ

Ξ

Κ

αϑΑϑΚΖΚ =
Ξ

ϕϑϕ=ϕΙϕ

αϑΖ[ϑ]

ανδ �ναλλψ

Ζ[Ι] =
Ξ

ϑ2Β;ϕϑϕ=ϕΙϕ

χΙϑΖ[ϑ]:

Ιν παρτιχυλαρ ωε ηαϖε

Ξ[Ι] =
Ξ

ϑ2Β;ϕϑϕ=ϕΙϕ

χΙϑΞ[ϑ]

ανδ
Ψ[Ι] =

Ξ

ϑ2Β;ϕϑϕ=ϕΙϕ

χΙϑΨ[ϑ]:

Τηεσε ιδεντιτιεσ σηοω τηατ ιφ (21) ηολδ φορ Ι 2 Β; τηεν τηεψ ηολδ φορ εϖερψ Ι:
Νοω ωε προϖε τηατ (21) ηολδ φορ Ι 2 Β. Λετ θ = 0. Ωε ηαϖε σεεν ιν τηε

προοφ οφ Τηεορεµ 9 τηατ (20) ιµπλιεσ

Ξ[Ι] +
Ξ

Κ2Β

υΚ αδ εΙ
�
Ξ[Κ]

�
= εΙ (22)

ανδ
Ψ[Ι] +

Ξ

Κ2Β

υΚ αδ εΙ
�
Ψ[Κ]

�
= εΙ : (23)

Ιν παρτιχυλαρ,
�
Ξ[Ι]

�
ξ
= εΙ ανδ

�
Ψ[Ι]
�
ξ
= εΙ , ηενχε (21) ηολδσ φορ θ = 0.

Ωε νοω ασσυµε τηατ (21) ηολδσ φορ α χερταιν θ ανδ ωε προϖε τηατ τηε σαµε
ισ τρυε ωιτη θ ρεπλαχεδ βψ θ + 1. Ωε χλαιµ τηατ ιτ ισ ενουγη το σηοω τηατ

Ζ = αδ
�
Ξ[ϑ] � Ψ[ϑ]

�
(εΙ) 2 ς

θ
1�ϕΙϕ�ϕϑϕ:

Ινδεεδ, βψ (22), (23)

Ξ[Ι] � Ψ[Ι] =
Ξ

Κ2Β

υΚ αδ
�
Ξ[Κ] � Ψ[Κ]

�
(εΙ)

ανδ βψ Λεµµα 8, υΚ αδ
�
Ξ[Κ] � Ψ[Κ]

�
(εΙ) 2 ς

θ+1
1�ϕΙϕ.
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Νοω ωε ωιλλ σηοω τηατ Ζ = αδ
�
Ξ[ϑ] � Ψ[ϑ]

�
(εΙ) 2 ς

θ
1�ϕΙϕ�ϕϑϕ. Χοµποσινγ

(22) ωιτη αδΞ[ϑ], (23) ωιτη αδΨ[ϑ] ανδ χοµπυτινγ τηε δι⁄ερενχε γιϖεσ

Ζ = αδΞ[ϑ]
�
Ξ[Ι]

�
� αδΨ[ϑ]

�
Ψ[Ι]
�
+

+
Ξ

Κ2Β

αδΞ[ϑ]
�
υΚ αδ εΙ

�
Ξ[Κ]

��
�
Ξ

Κ2Β

αδΨ[ϑ]
�
υΚ αδ εΙ

�
Ψ[Κ]

��

= αδΞ[ϑ]
�
Ξ[Ι]

�
� αδΨ[ϑ]

�
Ψ[Ι]
�
+
Ξ

Κ2Β

αδ
�
Ξ[ϑ] � Ψ[ϑ]

� �
υΚ αδ εΙ

�
Ξ[Κ]

��
+

+
Ξ

Κ2Β

αδΨ[ϑ]
�
υΚ αδ εΙ

�
Ξ[Κ] � Ψ[Κ]

��

Βψ τηε ϑαχοβι ιδεντιτψ

αδΞ[ϑ]
�
Ξ[Ι]

�
� αδΨ[ϑ]

�
Ψ[Ι]
�
=

Ξ

ϕΚϕ=ϕϑϕ+ϕΙϕ

χΚ
�
Ξ[Κ] � Ψ[Κ]

�

ανδ βψ ινδυχτιϖε ηψποτηεσισ αδΞ[ϑ]
�
Ξ[Ι]

�
� αδΨ[ϑ]

�
Ψ[Ι]
�
2 ς θ1�ϕΙϕ�ϕϑϕ.

Αλσο σινχε Ξ[Κ] 2 ς θ+1�ϕΚϕ ωε ηαϖε αδ εΙ
�
Ξ[Κ]

�
2 ς θ�ϕΙϕ�ϕΚϕ ανδ τηερεφορε

υΚ αδ εΙ
�
Ξ[Κ]

�
2 �ς θ+1�ϕΙϕ . Σινχε Ξ[ϑ] � Ψ[ϑ] 2 ς

θ
1�ϕϑϕ ωε ηαϖε

αδ
�
Ξ[ϑ] � Ψ[ϑ]

� �
υΚ αδ εΙ

�
Ξ[Κ]

��
2 ς θ1�ϕΙϕ�ϕϑϕ:

Τηισ µεανσ τηατ µοδυλο ς θ1�ϕΙϕ�ϕϑϕ ωε ηαϖε

Ζ �
Ξ

Κ2Β

αδΨ[ϑ]
�
υΚ αδ εΙ

�
Ξ[Κ] � Ψ[Κ]

��

�
Ξ

Κ2Β

αδ
�
Ψ[ϑ] � εϑ

� �
υΚ αδ εΙ

�
Ξ[Κ] � Ψ[Κ]

��
+

+
Ξ

Κ2Β

αδ εϑ
�
υΚ αδ εΙ

�
Ξ[Κ] � Ψ[Κ]

��

�
Ξ

Κ2Β

αδ εϑ
�
υΚ αδ εΙ

�
Ξ[Κ] � Ψ[Κ]

��

σινχε Ψ[ϑ] � εϑ 2 �ς
θ+1
�ϕϑϕ ανδ υΚ αδ εΙ

�
Ξ[Κ] � Ψ[Κ]

�
2 ς θ1�ϕΙϕ. Φιναλλψ

Ζ �
Ξ

Κ2Β

αδ εϑ
�
υΚ αδ εΙ

�
Ξ[Κ] � Ψ[Κ]

��
(24)

�
Ξ

Κ2Β

�
αδ εϑ αδ εΙ

�
υΚ
�
Ξ[Κ] � Ψ[Κ]

��
� αδ εϑ�ΙΚ

�
Ξ[Κ] � Ψ[Κ]

��

� αδ εϑ αδ εΙ

∀
Ξ

Κ2Β

υΚ
�
Ξ[Κ] � Ψ[Κ]

�
#
� αδ εϑ

�
Ξ[Ι] � Ψ[Ι]

�

� � αδ εϑ
�
Ξ[Ι] � Ψ[Ι]

�
� αδ

�
Ξ[Ι] � Ψ[Ι]

�
(εϑ) :
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σινχε
Π

Κ2Β υΚ
�
Ξ[Κ] � Ψ[Κ]

�
= 0 βψ (19) ανδ 20). Τηισ σηοωσ τηατ φορ εϖερψ

µυλτιινδεξ Ι ανδ ϑ ωε ηαϖε αδ
�
Ξ[ϑ] � Ψ[ϑ]

�
(εΙ) � αδ

�
Ξ[Ι] � Ψ[Ι]

�
(εϑ). Υσινγ

τηισ φαχτ ιν (24) ψιελδσ

Ζ �
Ξ

Κ2Β

αδ εϑ
�
υΚ αδ εΙ

�
Ξ[Κ] � Ψ[Κ]

��

�
Ξ

Κ2Β

αδ εϑ
�
υΚ αδ εΚ

�
Ξ[Ι] � Ψ[Ι]

��

� αδ εϑ
�
Ξ[Ι] � Ψ[Ι]

�
+
Ξ

Κ2Β

υΚ αδ εϑ αδ εΚ
�
Ξ[Ι] � Ψ[Ι]

�

� αδ εϑ
�
Ξ[Ι] � Ψ[Ι]

�
+
Ξ

Κ2Β

υΚ αδ εΚ αδ εϑ
�
Ξ[Ι] � Ψ[Ι]

�

σινχε εΚ ανδ εϑ χοµµυτεσ. Ηενχε

Ζ � �Ζ �
Ξ

Κ2Β

υΚ αδ εΚΖ:

Τηισ µεανσ
ΤΖ � 0 µοδς θ1�ϕΙϕ�ϕϑϕ:

ωηιχη ιµπλιεσ Ζ 2 ς θ1�ϕΙϕ�ϕϑϕ.

Ιν ορδερ το ρεχοϖερ φροµ Τηεορεµ 10 τηε εξαχτ στατεµεντ οφ Ροτησχηιλδ−
Στειν�σ �αππροξιµατιον τηεορεµ�, σοµε ωορκ ηασ στιλλ το βε δονε. Φιρστ, ωε
ηαϖε το πασσ φροµ τηε ποιντωισε στατεµεντ οφ Τηεορεµ 10 το αν αναλογουσ λοχαλ
στατεµεντ. Τηισ ινϖολϖεσ τηε ιντροδυχτιον οφ Ροτησχηιλδ−Στειν�σ �µαπ �� ανδ
τηε στυδψ οφ σοµε οφ ιτσ προπερτιεσ. Σεχονδ, ωε ηαϖε το αππλψ τηισ τηεορεµ το
τηε χασε ωηερε τηε ϖεχτορ �ελδσ Ψι αρε ηοµογενεουσ λεφτ ινϖαριαντ ωιτη ρεσπεχτ
το α στρυχτυρε οφ ηοµογενεουσ γρουπ, ανδ δεδυχε σοµε ινφορµατιον ον τηε
�ρεµαινδερσ� ιν τηισ αππροξιµατιον προχεδυρε. Τηεσε τασκσ ωιλλ βε περφορµεδ
ιν τηε νεξτ τωο συβσεχτιονσ, ρεσπεχτιϖελψ.

2.3 Φροµ ποιντωισε το λοχαλ. Τηε µαπ �

Ωε νοω ρεϖισε τηε χονστρυχτιον οφ λοχαλ χοορδινατεσ υΙ µαδε ιν ♣2.1. Λετ 
 βε ασ
ατ τηε βεγιννινγ οφ ♣2; ωε χλαιµ τηατ φορ ανψ 
0 β 
 τηερε εξιστσ α νειγηβορηοοδ
Υ (0) � Ρπ ωηερε τηε µαπ

Ε (�; �0) : υ � (υΙ)Ι2Β 7�! � � εξπ

 
Ξ

Ι2Β

υΙΞ[Ι]

!
(�0) (25)

ισ ωελλ δε�νεδ ανδ σµοοτη, φορ ανψ �ξεδ �0 2 

0. Ναµελψ, βψ χλασσιχαλ ρεσυλτσ

αβουτ Ο.∆.Ε.�σ, Ε ισ σµοοτη ιν τηε ϕοιντ ϖαριαβλεσ (υ; �0) 2 Υ (0)� 

0.

Νεξτ, ωε δε�νε
Φ (υ; �0; �) = Ε (υ; �0)� �
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ον Υ (0) � 
0 � Ρπ: Νοτινγ τηατ Φ (0; �0; �0) = 0 ανδ τηατ τηε ϑαχοβιαν οφ Φ
ωιτη ρεσπεχτ το τηε υ ϖαριαβλεσ, ατ (0; �0; �0) ; ηασ δετερµιναντ

δετ
��
Ξ[Ι]

�
�0

�
;

ωηιχη δοεσ νοτ ϖανιση σινχε
�
Ξ[Ι]

	
Ι2Β

σπαν Ρπ, βψ τηε ιµπλιχιτ φυνχτιον τηεορεµ
ωε χαν δε�νε α φυνχτιον

υ = �(�; �) ;

σµοοτη ιν σοµε νειγηβορηοοδ Ω οφ (�0; �0), συχη τηατ Ε (� (�; �) ; �) = �:
Συµµαριζινγ τηε αβοϖε δισχυσσιον ωε χαν στατε τηε φολλοωινγ:

Προποσιτιον 11 (Τηε µαπ �) ι) Φορ ανψ �0 2 
 τηερε εξιστ α νειγηβορ−
ηοοδ Ω οφ (�0; �0) ιν Ρ

2π; α νειγηβορηοοδ Υ (0) οφ 0 ιν Ρπ ανδ α σµοοτη
µαπ �(�; �) :Ω ! Υ (0) συχη τηατ:

� = εξπ

 
Ξ

Ι2Β

υΙΞ[Ι]

!
(�) φορ υ = �(�; �) ; (26)

ιι) Τηε µαπ � σατισ�εσ
�(�; �) = ��(�; �) ; (27)

ιιι) φορ ανψ �ξεδ �; τηε µαπ υ = �(�; �) ισ α δι⁄εοµορπηισµ φροµ α νειγη−
βορηοοδ οφ � οντο α νειγηβορηοοδ οφ 0, ιν Ρπ;

ιϖ) αναλογουσλψ, φορ ανψ �ξεδ �; τηε µαπ υ = �(�; �) ισ α δι⁄εοµορπηισµ
φροµ α νειγηβορηοοδ οφ � οντο α νειγηβορηοοδ οφ 0:

Προοφ. Ωε ηαϖε αλρεαδψ προϖεδ (ι) ανδ (ιιι); (ιι) φολλοωσ φορµ τηε φαχτ τηατ, φορ
ανψ ϖεχτορ �ελδ Ξ,

� = εξπ (Ξ) (�) =) � = εξπ (�Ξ) (�) ;

ασ χαν βε χηεχκεδ βψ δε�νιτιον οφ τηε εξπονεντιαλ µαπ; (ιϖ) ισ τηεν α χονσεθυενχε
οφ (ιι) ανδ (ιιι).

Τηε µαπ � αλλοωσ ονε το ρεστατε Τηεορεµ 10 (αππροξιµατιον) ιν α φορµ
µορε σιµιλαρ το τηατ οφ Ροτησχηιλδ−Στειν.
Ρεχαλλ τηατ α ϖεχτορ �ελδ Ζ ηασ ωειγητ κ ατ σοµε �ξεδ ποιντ � ιφ Ζ, εξπρεσσεδ

ιν τερµσ οφ τηε λοχαλ χοορδινατεσ υ = �(�; �) ; ηασ ωειγητ κ ατ υ = 0; ιν τηε
σενσε οφ ∆ε�νιτιον 7.
Ιτ ωιλλ βε υσεφυλ το ρεχαλλ αλσο τηε χονχρετε µεανινγ οφ εξπρεσσινγ τηε σαµε

ϖεχτορ �ελδ ιν δι⁄ερεντ χοορδινατεσ: ιφ ωε δενοτε βψ Ζ� ανδ Ζυ; τηε ϖεχτορ
�ελδ Ζ ωριττεν ασ α δι⁄ερεντιαλ οπερατορ ωηιχη αχτσ ον τηε ϖαριαβλεσ � ορ υ,
ρεσπεχτιϖελψ, τηεν

Ζ� [φ (� (�; �))] = (Ζυφ) (� (�; �)) : (28)

φορ ανψ σµοοτη φυνχτιον φ (υ).
Τηεν ωε ηαϖε:
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Τηεορεµ 12 (Αππροξιµατιον, λοχαλ ϖερσιον) Φορ εϖερψ µυλτιινδεξ Ι τηε
ϖεχτορ �ελδ Ξ[Ι] ηασ ωειγητ � � ϕΙϕ ατ ανψ ποιντ οφ 
. Ιφ Ψ0; Ψ1; : : : ; Ψν ισ ανοτηερ
σψστεµ οφ ϖεχτορ �ελδσ (εξπρεσσεδ ιν τηε σαµε χοορδινατεσ υ) σατισφψινγ

Ξ

Ι2Β

υΙεΙ =
Ξ

Ι2Β

υΙΨ[Ι] (29)

τηεν Ξ[Ι] � Ψ[Ι] ηασ ωειγητ � 1� ϕΙϕ ατ ανψ ποιντ οφ 
. Μορεοϖερ, φορ ανψ ποιντ
� 2 
 τηερε εξιστσ α σψστεµ οφ ϖεχτορ �ελδσ Ρ�;[Ι]; οφ ωειγητ � 1�ϕΙϕ ατ � (ωηεν
εξπρεσσεδ ιν τηε χοορδινατεσ υ) ανδ σµοοτηλψ δεπενδινγ ον τηε ποιντ �; συχη τηατ

Ξ�
[Ι] [φ (� (�; �))] =

�
Ψ[Ι]φ

�
(� (�; �)) +

�
Ρ�;[Ι]φ

�
(� (�; �)) : (30)

Προοφ. Τηε �ρστ παρτ οφ τηε τηεορεµ ισ εξαχτλψ Τηεορεµ 9 πλυσ Τηεορεµ 10,
στατεδ ατ ανψ ποιντ �: Σαψινγ τηατ Ξ[Ι] � Ψ[Ι] ηασ ωειγητ � 1� ϕΙϕ ατ �; ϕυστ βψ
δε�νιτιον µεανσ τηατ τηε ϖεχτορ �ελδ Ρ�;[Ι] = Ξ

υ
[Ι] � Ψ[Ι] ηασ ωειγητ � 1 � ϕΙϕ

ατ υ = 0. Ηερε τηε συπερσχριπτ υ ιν Ξυ
[Ι] εµπηασιζεσ τηατ τηισ ϖεχτορ �ελδ ισ

εξπρεσσεδ ιν τερµσ οφ τηε χοορδινατεσ υ: Βψ (28), ωε χαν ρεωριτε ιτ ιν τερµσ οφ
χοορδινατεσ �; γεττινγ (30). Ιτ ρεµαινσ το χηεχκ τηατ Ρ�;[Ι] δεπενδσ σµοοτηλψ
ον �: Λετ

Ρ�;[Ι] =
Ξ

ϑ

βΙϑ (�; υ) ≅υϑ ;

τηεν, αππλψινγ (30) το τηε φυνχτιον φ (υ) = υϑ ωε γετ

βΙϑ (�;�(�; �)) = Ξ
�
[Ι] [(� (�; �))ϑ ]�

�
Ψ[Ι]υϑ

�
(� (�; �)) :

Τηε ριγητ−ηανδ σιδε οφ τηισ εθυατιον ισ α σµοοτη φυνχτιον οφ (� ; �) ; σινχε � ισ
σµοοτη (σεε Προποσιτιον 11); ηενχε τηε φυνχτιονσ

(� ; �) 7�! βΙϑ (�;�(�; �))

αρε σµοοτη; �ξινγ � ανδ χοµποσινγ ωιτη τηε δι⁄εοµορπηισµ υ = �(�; �) ωε
ρεαδ τηατ βΙϑ (�; υ) αρε σµοοτη φυνχτιονσ, ωηιχη ισ ωηατ ωε νεεδεδ το προϖε.

Ρεµαρκ 13 Τηε λαστ στατεµεντ ισ περφεχτλψ αναλογουσ οφ τηε αππροξιµατιον τηε−
ορεµ προϖεδ βψ Ροτησχηιλδ−Στειν, βυτ σοµεωηατ µορε γενεραλ, σινχε τηε ϖεχτορ
�ελδσ Ψ[Ι] νεεδ νοτ βε λεφτ ινϖαριαντ ον α ηοµογενεουσ γρουπ; τηεψ ονλψ νεεδ το
σατισφψ (29).

2.4 Αππροξιµατιον βψ λεφτ ινϖαριαντ ϖεχτορ �ελδσ

Τηε στανδαρδ αππλιχατιον οφ Τηεορεµ 12 ρεθυιρεσ τηε χονστρυχτιον οφ α παρτιχυλαρ
σψστεµ οφ ϖεχτορ �ελδσ

�
Ψ[Ι]
	
Ι2Β

ενϕοψινγ σπεχιαλ προπερτιεσ.
Ιν τηε φολλοωινγ στατεµεντ, τηε νυµβερσ π; ν; ρ κεεπ τηε σαµε µεανινγ τηεψ

ηαϖε ιν τηε πρεϖιουσ συβσεχτιονσ; αλσο τηε σψστεµ οφ µυλτιινδιχεσ (Ι 2 Β) ισ τηε
σαµε.
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Τηεορεµ 14 Τηερε εξιστ ιν Ρπ α σψστεµ οφ σµοοτη ϖεχτορ �ελδσ Ψ0; Ψ1; :::; Ψν
ανδ α στρυχτυρε οφ ηοµογενεουσ γρουπ Γ, τηατ ισ, α Λιε γρουπ οπερατιον υ � ϖ
(�τρανσλατιον�) ανδ α ονε−παραµετερ φαµιλψ φ��γ�>0 οφ αυτοµορπηισµσ (�διλα−
τιονσ�), αχτινγ ασ

��
�
(υΙ)Ι2Β

�
=
�
�ϕΙϕυΙ

�
Ι2Β

,

συχη τηατ:

(ι) τηε ϖεχτορ �ελδσ Ψ0; Ψ1; :::; Ψν αρε φρεε υπ το ωειγητ ρ ιν Ρ
π ανδ τηε ϖεχτορσ��

Ψ[Ι]
�
υ

	
ϕΙϕ�ρ

σπαν Ρπ ατ ανψ ποιντ υ οφ τηε σπαχε;

(ιι) τηε Ψ[Ι]�σ αρε λεφτ ινϖαριαντ ανδ ηοµογενεουσ οφ δεγρεε ϕΙϕ ωιτη ρεσπεχτ το
τηε διλατιονσ ιν Γ;

(ιιι) ατ υ = 0, τηε Ψ[Ι]�σ χοινχιδε ωιτη τηε λοχαλ βασισ ασσοχιατεδ το τηε χοορδι−
νατεσ υΙ , τηατ ισ, �

Ψ[Ι]
�
0
=

≅

≅υΙ
;

(ιϖ) τηε Ψ[Ι]�σ σατισφψ (29);

(ϖ) ιν τηε γρουπ Γ, τηε ινϖερσε υ�1 οφ αν ελεµεντ ισ ϕυστ ιτσ (Ευχλιδεαν)
οπποσιτε �υ.

Ωε στρεσσ τηατ αλλ τηε πρεϖιουσ προπερτιεσ ηολδ σιµυλτανεουσλψ, ωιτη ρεσπεχτ
το τηε σαµε σψστεµ οφ χοορδινατεσ ιν τηε σπαχε Ρπ: Τηεσε χοορδινατεσ ωιλλ βε
ιδεντι�εδ ωιτη τηε χανονιχαλ χοορδινατεσ υ ινδυχεδ βψ τηε ϖεχτορ �ελδσ Ξ[Ι] (σεε
♣2.1).

Προοφ. Φορ τηε φολλοωινγ αβστραχτ χονστρυχτιον ωε ρεφερ το [13, ππ.3−15].
1. Λετ υσ χονσιδερ τηε Λιε αλγεβρα γ οβταινεδ βψ θυοτιεντινγ τηε φρεε Λιε

αλγεβρα ωιτη γενερατορσ Ζ0; :::; Ζν ωιτη ρεσπεχτ το τηε ιδεαλ σπαννεδ βψ αλλ χοµ−
µυτατορσ οφ ωειγητ γρεατερ τηαν ρ (τηισ ισ χαλλεδ τηε φρεε νιλποτεντ Λιε αλγεβρα
οφ τψπε ΙΙ ιν [14]); ηερε Ζ0; :::; Ζν αρε τηουγητ ασ αβστραχτ γενερατορσ, ηαϖινγ
ωειγητ 2 (Ζ0) ανδ 1 (Ζ1; Ζ2; :::; Ζν) : Τηισ αβστραχτ Λιε αλγεβρα ισ ισοµορπηιχ το
Ρ
δ φορ σοµε δ. Ωε χλαιµ τηατ αχτυαλλψ δ = π. Ναµελψ τηε στρυχτυρε οφ τηε φρεε
Λιε αλγεβρα οφ τψπε ΙΙ οφ στεπ ρ ον ν γενερατορσ χαν δεπενδ ονλψ ον ν; ρ; ανδ
σινχε τηε Λιε αλγεβρα γενερατεδ βψ τηε Ξι�σ ισ Ρ

π; π = δ:
Ηενχε τηε Λιε αλγεβρα γ ωιλλ βε ιδεντι�εδ ωιτη Ρπ φροµ νοω ον.
2. Ωε τηεν ιντροδυχε ιν Ρπ αν οπερατιον �; δε�νεδ βψ:

ξ � ψ � Σ (ξ; ψ) � ξ+ ψ +
1

2
[ξ; ψ] +

1

12
[[ξ; ψ] ; ψ]�

1

12
[[ξ; ψ] ; ξ] + ::: (31)

Ιν τηε πρεϖιουσ φορµυλα, [ξ; ψ] δενοτεσ τηε χοµµυτατορ ιν τηε Λιε αλγεβρα γ
(ωηοσε ελεµεντσ ηαϖε βεεν ιδεντι�εδ ωιτη ποιντσ οφ Ρπ); τηε συµ ισ �νιτε βεχαυσε
τηε Λιε αλγεβρα ισ νιλποτεντ, ανδ τηε πρεχισε δε�νιτιον οφ Σ ισ γιϖεν βψ

Σ (�; �) = Σ0 (1; 1; �; �)
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ωηερε Σ0 ισ τηε φυνχτιον αππεαρινγ ιν τηε Βακερ−Χαµπβελλ−Ηαυσδορ⁄ φορµυλα:

εξπ (σΞ) εξπ (τΨ ) = εξπ (Σ0 (σ; τ;Ξ; Ψ )) (32)

ωηιχη ηολδσ, φορ σ; τ σµαλλ ενουγη, φορ ανψ χουπλε οφ σµοοτη ϖεχτορ �ελδσ Ξ;Ψ
ωηιχη γενερατε α �νιτε διµενσιοναλ Λιε αλγεβρα. Μορε πρεχισελψ, ιτ ισ κνοων τηατ

Σ (ξ; ψ) =
Ξ

ϕ+κ�1

Ζϕ;κ (ξ; ψ) (33)

ωηερε εαχη Ζϕ;κ (ξ; ψ) ισ α �ξεδ λινεαρ χοµβινατιον οφ ιτερατεδ χοµµυτατορσ οφ
ξ ανδ ψ; χονταινινγ ϕ τιµεσ ξ ανδ κ τιµεσ ψ. Ιν τερµσ οφ χοορδινατεσ ιν Ρπ; τηισ
φυνχτιον χαν βε ωριττεν ασ

Σ (ξ; ψ) = (Σ1 (ξ; ψ) ; Σ2 (ξ; ψ) ; :::; Σπ (ξ; ψ))

ωηερε εαχη Σϕ ισ α πολψνοµιαλ ιν ξ; ψ. Τηεν (σεε Τηεορεµ 4.2 ιν [13]) τηε
οπερατιον � δε�νεσ ιν Ρπ α στρυχτυρε οφ ηοµογενεουσ Λιε γρουπ Γ, ωηοσε Λιε
αλγεβρα Λιε(Γ) ισ ισοµορπηιχ το γ:
3. Τηε ισοµορπηισµ οφ γ ωιτη Λιε(Γ) ; εξπλιχιτλψ, µεανσ τηατ ιφ ωε δε�νε Ψ[Ι]

ασ τηε λεφτ ινϖαριαντ (ωιτη ρεσπεχτ το Γ) ϖεχτορ �ελδ ιν Ρπ ωηιχη αγρεεσ ωιτη ≅υΙ
ατ τηε οριγιν, τηεν τηε Λιε αλγεβρα γενερατεδ βψ

�
Ψ[Ι]
	
Ι2Β

ισ ισοµορπηιχ το γ;

ιν παρτιχυλαρ, ιτ ισ φρεε υπ το ωειγητ ρ ανδ τηε ϖεχτορσ
��
Ψ[Ι]
�
υ

	
ϕΙϕ�ρ

σπαν Ρπ ατ

ανψ ποιντ. Χλεαρλψ, τηισ ισοµορπηισµ λογιχαλλψ δεπενδσ ον τηε δε�νιτιον οφ � ιν
τερµσ οφ τηε Βακερ−Χαµπβελλ−Ηαυσδορ⁄ φορµυλα.
4. Ιτ ρεµαινσ το σηοω (ιϖ) ανδ (ϖ). Βοτη φολλοω φροµ τακινγ α λοοκ ινσιδε

τηε οπερατιον Σ (ξ; ψ). Ασ το (ϖ), φροµ (31) ωε ρεαδ τηατ

Σ (ξ;�ξ) = ξ� ξ+
1

2
[ξ;�ξ] +

1

12
[[ξ;�ξ] ;�ξ]�

1

12
[[ξ;�ξ] ; ξ] + ::: = 0

σινχε [ξ; ξ] = 0. Τηερεφορε τηε Ευχλιδεαν οπποσιτε ισ αλσο τηε ινϖερσε ιν τηε
γρουπ. Το προϖε (ιϖ), ωε σταρτ ωριτινγ, φορ ανψ σµοοτη φυνχτιον φ ,

�
Ψ[Ι]φ

�
(ξ) =

δ

δτ /τ=0
φ (ξ � τεΙ)

βψ (33),

=
δ

δτ /τ=0
φ

0
≅ Ξ

ϕ+κ�1

Ζϕ;κ (ξ; τεΙ)

1
Α = ρφ (ξ) �

Ξ

ϕ+κ�1

δ

δτ /τ=0
τκΖϕ;κ (ξ; εΙ)

= ρφ (ξ) �
Ξ

ϕ�0

Ζϕ;1 (ξ; εΙ) :

Τηεν ωε χοµπυτε
Ξ

Ι2Β

ξΙ
�
Ψ[Ι]φ

�
(ξ) =

Ξ

Ι2Β

ρφ (ξ) �
Ξ

ϕ�0

Ζϕ;1 (ξ; ξΙεΙ) =

= ρφ (ξ) �
Ξ

ϕ�0

Ζϕ;1 (ξ; ξ) = ρφ (ξ) � ξ =
Ξ

Ι2Β

ξΙ≅ξΙφ (ξ)
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τηατ ισ (29). Τηε τηεορεµ ισ χοµπλετελψ προϖεδ.

Τηεορεµ 12 χαν νοω αππλιεδ χηοοσινγ τηε λεφτ ινϖαριαντ ϖεχτορ �ελδσ Ψ[Ι] ασ
τηε αππροξιµατινγ σψστεµ. Τηε µαπ υ = �(�; �) χαν νοω βε ρεγαρδεδ ασ α
δι⁄εοµορπηισµ φροµ α νειγηβορηοοδ οφ � οντο α νειγηβορηοοδ οφ 0 ιν τηε γρουπ
Γ. Ιν οτηερ ωορδσ, �(�; �) ισ αν ελεµεντ οφ τηε γρουπ Γ; ανδ ονε ηασ:

�(�; �) = ��(�; �) = � (�; �)
�1
:

Ρεµαρκ 15 Βεφορε στατινγ τηειρ Τηεορεµ 5, Ηρµανδερ ανδ Μελιν συγγεστ
ηοω το χοννεχτ ιτ ωιτη Τηεορεµ 5 ιν [14]. Ωε ωουλδ λικε νοω το εξπλαιν ιν
µορε δεταιλσ τηισ λινκ, γιϖινγ ιν τηισ ωαψ α ρεφορµυλατιον οφ σοµε οφ τηε ρεσυλτσ
οφ Τηεορεµ 14.
Λετ υσ χονσιδερ τηε Λιε αλγεβρα γ οβταινεδ βψ θυοτιεντινγ τηε φρεε Λιε αλγεβρα

ωιτη γενερατορσ Ξ0; :::; Ξν ωιτη ρεσπεχτ το τηε ιδεαλ σπαννεδ βψ αλλ χοµµυτατορσ
οφ ωειγητ γρεατερ τηαν ρ. Ιφ Γ ισ τηε (υνιθυε, νιλποτεντ) χοννεχτεδ ανδ σιµπλψ
χοννεχτεδ Λιε γρουπ ηαϖινγ γ ασ ιτσ Λιε αλγεβρα, τηεν τηε εξπονεντιαλ µαπ εξπ :
γ ! Γ ισ α δι⁄εοµορπηισµ, σο τηατ Ρπ ∋ γ ∋ Γ. Ωε δενοτε ωιτη Ψι 2 γ

τηε εθυιϖαλενχε χλασσ οφ Ξι. Ιτ χαν βε σεεν, ασ υσυαλ, ασ α λεφτ−ινϖαριαντ ϖεχτορ
�ελδ ον Γ. Ιτ ισ αλσο χλεαρ τηατ

��
Ψ[Ι]
�
0

	
Ι2Β

ισ α βασισ οφ τηε τανγεντ σπαχε
Τ0Γ, ωηερε 0 ηερε στανδσ φορ τηε ιδεντιτψ οφ Γ. Ωε χαν τηυσ δε�νε α σψστεµ οφ
χοορδινατεσ (υΙ)Ι2Β ον Γ βψ µεανσ οφ

Ρ
π 3 (υΙ)Ι2Β 7! εξπ

 
Ξ

Ι2Β

υΙΨ[Ι]

!
(0) = εξπ

 
Ξ

Ι2Β

υΙΨ[Ι]

!
2 Γ; (34)

ασ ωε διδ πρεϖιουσλψ φορ τηε ϖεχτορ �ελδσ Ξι ον Ρ
π. (Τηε �ρστ εξπ ιν (34) ισ

τηε εξπονεντιαλ οφ α ϖεχτορ �ελδ, ωηιλε τηε σεχονδ ονε ισ τηε εξπονεντιαλ µαπ οφ
τηε γρουπ Γ). Νοτιχε ηοωεϖερ τηατ ιν τηισ χασε τηε χοορδινατε σψστεµ ισ γλοβαλ,
σινχε τηε εξπονεντιαλ µαπ ισ α δι⁄εοµορπηισµ. Ωε υσεδ τηε σαµε νοτατιον φορ
τηε τωο σετσ οφ χοορδινατεσ βεχαυσε τηεψ ωιλλ βε ιµµεδιατελψ ιδεντι�εδ. Ινδεεδ,
ωε χαν ασσοχιατε ωιτη (υΙ)Ι2Β 2 Ρ

π α ποιντ ιν Ρπ βψ (14) ανδ αν ελεµεντ ιν
Γ βψ (34). Τηισ προϖιδεσ α µαπ φροµ Γ το Ρπ, ανδ αλλοωσ υσ το χοµπαρε τηε
ϖεχτορ �ελδσ Ξ[Ι] ανδ Ψ[Ι], ονχε τηεψ ηαϖε βεεν ωριττεν ιν τηεσε χοορδινατεσ. Πυτ
ιν α λιττλε βιτ δι⁄ερεντ ωαψ, ωε χαν υσε (34) το ιδεντιφψ Γ ωιτη τηε �σαµε� Ρπ

ωηερε τηε ϖεχτορ �ελδσ Ξι αρε δε�νεδ, σο τηατ τηε Ξι ανδ τηε Ψι λιϖε ιν τηε σαµε
σπαχε. Ατ τηισ ποιντ, ιν ορδερ το αππλψ Τηεορεµ 10 ωε σιµπλψ ηαϖε το νοτιχε
τηατ, αργυινγ ασ ιν τηε προοφ οφ Λεµµα 15, ονε ηασ

Ξ

Ι2Β

υΙεΙ =
Ξ

Ι2Β

υΙΨ[Ι];

ωηερε εΙ = ≅=≅υΙ .

2.5 Τηε βαλλ−βοξ τηεορεµ φορ φρεε σµοοτη ϖεχτορ �ελδσ

Ωε νοω το δραω σοµε χονσεθυενχεσ φροµ τηε στυδψ οφ ωειγητσ οφ ϖεχτορ �ελδσ
(Τηεορεµ 9) ιν τερµσ οφ τηε γεοµετρψ οφ βαλλσ ινδυχεδ βψ ϖεχτορ �ελδσ. Ωε ωιλλ
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γετ, στιλλ ιν τηε χοντεξτ οφ φρεε σµοοτη ϖεχτορ �ελδσ, α βαλλ−βοξ τηεορεµ ωηιχη ισ
ενουγη το γετ α χοντρολ οφ τηε ϖολυµε οφ τηε βαλλσ ιν τηισ σεττινγ. Ιν τυρν, τηισ
φαχτ ωιλλ βε εξπλοιτεδ ιν τηε νεξτ συβσεχτιον το χοµπαρε τηε διστανχε ινδυχεδ
βψ λιφτεδ ϖεχτορ �ελδσ ωιτη Ροτησχηιλδ−Στειν�σ θυασιδιστανχε.
Τηε συβελλιπτιχ µετριχ ιντροδυχεδ βψ Ναγελ−Στειν−Ωεινγερ ιν [12], ιν τηισ

σιτυατιον, ισ δε�νεδ ασ φολλοωσ:

∆ε�νιτιον 16 Φορ ανψ � > 0; λετ Χ (�) βε τηε χλασσ οφ αβσολυτελψ χοντινυουσ
µαππινγσ ∋ : [0; 1] �! 
 ωηιχη σατισφψ

∋0 (τ) =
Ξ

ϕΙϕ�σ

αΙ (τ)
�
Ξ[Ι]

�
∋(τ)

α.ε.

ωιτη
ϕαΙ (τ)ϕ � �

ϕΙϕ:

Τηεν δε�νε

δ (ξ; ψ) = ινφ φ� > 0 : 9∋ 2 Χ (�) ωιτη ∋ (0) = ξ; ∋ (1) = ψγ :

Ρεµαρκ 17 Τηε θυαντιτψ δ (ξ; ψ) ισ �νιτε φορ ανψ τωο ποιντσ ξ; ψ 2 
: Ναµελψ,
λετ ∋ : [0; 1] �! 
 βε ανψ Χ1 χυρϖε ϕοινινγ ξ το ψ; σινχε τηε

��
Ξ[Ι]

�
ξ

	
ϕΙϕ�ρ

σπαν

Ρ
π ατ ανψ ποιντ ξ 2 
; ∋0 (τ) χαν αλωαψσ βε εξπρεσσεδ ιν τηε φορµ

Ξ

ϕΙϕ�ρ

αΙ (τ)
�
Ξ[Ι]

�
∋(τ)

;

φορ συιταβλε βουνδεδ φυνχτιονσ αΙ (τ) ; τηεν τηε χυρϖε ∋ ωιλλ βελονγ το τηε χλασσ
Χ (�) ; φορ � > 0 λαργε ενουγη, ανδ δ (ξ; ψ) ωιλλ βε �νιτε ανδ νοτ εξχεεδινγ τηισ
�.

Προποσιτιον 18 Τηε φυνχτιον δ : 
�
! Ρ ισ α διστανχε. Μορεοϖερ, φορ ανψ

0 β 
 τηερε εξιστ ποσιτιϖε χονσταντσ χ1; χ2 συχη τηατ

χ1 ϕξ� ψϕ � δ (ξ; ψ) � χ2 ϕξ� ψϕ
1=ρ

φορ ανψ ξ; ψ 2 
0: (35)

Τηε πρεϖιουσ προποσιτιον ισ ωελλ κνοων (σεε [12, Προποσιτιον 1.1]; ιν [2] τηισ
ισ προϖεδ αλσο φορ νονσµοοτη ϖεχτορ �ελδσ).
Ωε αρε νοω ιν ποσιτιον το στατε ουρ βαλλ−βοξ τηεορεµ.

Νοτατιον 19 Φορ �ξεδ ξ 2 Ρπ; Ρ > 0; λετ

Βοξ (ξ;Ρ) =

(
ξ 2 Ρπ : ξ = εξπ

 
Ξ

Ι2Β

υΙΞ[Ι]

!
(ξ) : ϕυΙ ϕ < Ρ

ϕΙϕ φορ ανψ Ι 2 Β

)
;

Ιν χανονιχαλ χοορδινατεσ υΙ , τηε συβσετ Βοξ (ξ;Ρ) σιµπλψ βεχοµεσ:

Βοξ (Ρ) =
ν
υ 2 Ρπ : ϕυΙ ϕ < Ρ

ϕΙϕ φορ ανψ Ι 2 Β
ο
:
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Λετ Β (ξ;Ρ) δενοτε τηε µετριχ βαλλ οφ χεντερ ξ ανδ ραδιυσ Ρ ιν Ρπ, ωιτη ρεσπεχτ
το τηε διστανχε δ ινδυχεδ βψ τηε ϖεχτορ �ελδσ

�
Ξ[Ι]

	
Ι2Β

.
Αλσο, λετ υσ δε�νε τηε φολλοωινγ θυαντιτιεσ ρελατεδ το χανονιχαλ χοορδινατεσ:

ϕυϕκ =
Ξ

ϕϑϕ=κ

ϕυϑ ϕ φορ κ = 1; 2; :::; σ

κυκ =
σΞ

κ=1

ϕυϕ
1=κ
κ :

Τηεορεµ 20 (Βαλλ−βοξ τηεορεµ φορ φρεε ϖεχτορ �ελδσ) Φορ εϖερψ 
0 β 

τηερε εξιστ ποσιτιϖε χονσταντσ Χ;Ρ0; χ1; χ2; χ3 δεπενδινγ ον 
;


0 ανδ τηε σψστεµ�
Ξ[Ι]

	
Ι2Β

συχη τηατ, φορ ανψ ξ 2 
0; Ρ � Ρ0;

(ι)
Βοξ (ξ;Ρ) � Β (ξ;Ρ) � Βοξ (ξ;ΧΡ)

(ιι)
χ1Ρ

Θ � ϕΒ (ξ;Ρ)ϕ � χ2Ρ
Θ

ωηερε Θ =
Π

Ι2Β ϕΙϕ πλαψσ τηε ρολε οφ �ηοµογενεουσ διµενσιον�

(ιιι)
ϕΒ (ξ; 2Ρ)ϕ � χ3 ϕΒ (ξ;Ρ)ϕ :

Προοφ. (ι) Λετ υσ σηοω �ρστ τηατ

Βοξ (ξ;Ρ) � Β (ξ;Ρ) : (36)

Φορ ξ 2 Βοξ (ξ;Ρ) ; λετ υσ ωριτε

ξ = εξπ

 
Ξ

Ι2Β

υΙΞ[Ι]

!
(ξ) ωιτη ϕυΙ ϕ < Ρ

ϕΙϕ (37)

ανδ σετ

∋ (τ) = εξπ

 
Ξ

Ι2Β

τυΙΞ[Ι]

!
(ξ) :

Τηισ ∋ (τ) δε�νεσ αν αδµισσιβλε χυρϖε βελονγινγ το Χ (�) φορ σοµε � < Ρ, τηατ
ισ, δ (ξ; ξ) < Ρ ανδ ινχλυσιον (36) ισ προϖεδ.
Το προϖε τηε ρεϖερσε ινχλυσιον

Β (ξ;Ρ) � Βοξ (ξ;ΧΡ) ;

ωε αργυε ασ φολλοωσ. Φορ ξ 2 Β (ξ;Ρ) ; λετ ∋ (τ) βε α χυρϖε ιν Χ (Ρ), τηατ ισ,

∋0 (τ) =
Ξ

Ι2Β

αΙ (τ)
�
Ξ[Ι]

�
∋(τ)

ωιτη ∋ (0) = ξ; ∋ (1) = ξ; ϕαΙ (τ)ϕ � Ρ
ϕΙϕ:
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Τηεν, φορ ανψ σµοοτη φυνχτιον φ (ξ) ωε ηαϖε

φ (∋ (τ))� φ (ξ) =

Ζ τ

0

δ

δτ
[φ (∋ (�))] δ� =

Ξ

Ι2Β

Ζ τ

0

αΙ (�)
�
Ξ[Ι]φ

�
∋(�)

δ�:

Ιν παρτιχυλαρ, ρεασονινγ φροµ νοω ον ιν χανονιχαλ χοορδινατεσ, φορ φ (υ) = υϑ
ωε γετ

∋ (τ)ϑ =
Ξ

Ι2Β

Ζ τ

0

αΙ (�)
�
Ξ[Ι]υϑ

�
∋(�)

δ�: (38)

Φροµ Τηεορεµ 9 ωε ρεαδ
���
�
Ξ[Ι]υϑ

�
∋(�)

��� � χ κ∋ (�)κϕϑϕ�ϕΙϕ ιφ ϕΙϕ < ϕϑ ϕ ;

προϖιδεδ ξ ρανγεσ ιν α χοµπαχτ σετ. Αλσο, βψ δε�νιτιον οφ ∋ ωε ηαϖε

ϕαΙ (�)ϕ � Ρ
ϕΙϕ � ΧΡϕϑϕ ιφ ϕΙϕ � ϕϑ ϕ ;

φορ ανψ Ρ � Ρ0; ανψ �ξεδ Ρ0; ανδ σοµε Χ δεπενδινγ ον Ρ0. Τηερεφορε, (38)
γιϖεσ

ϕ∋ (τ)ϑ ϕκ � Χ
Ξ

Ι2Β;ϕΙϕ�κ�1

Ζ τ

0

ΡϕΙϕ κ∋ (�)κ
ϕϑϕ�ϕΙϕ

δ� +
Ξ

Ι2Β;ϕΙϕ�κ

Ζ τ

0

ΧΡϕϑϕδ�

= Χ

8
<
:

κ�1Ξ

ϕ=1

Ρϕ
Ζ τ

0

κ∋ (�)κ
κ�ϕ

δ� +Ρκ

9
=
;

� Χ

�
Ρ

Ζ τ

0

κ∋ (�)κ
κ�1

δ� +Ρκ
�

(39)

ωηερε τηε λαστ ινεθυαλιτψ ηολδσ βεχαυσε φορ ϕ = 1; 2; :::; κ � 1

Ρϕ κξκ
κ�ϕ

�

�
Ρκ ιφ κξκ � Ρ

Ρ κξκ
κ�1

ιφ κξκ � Ρ:

Νεξτ, σινχε

Ρ κ∋ (�)κ
κ�1

� (Ρ+ κ∋ (�)κ)
κ
� χ

�
Ρκ + κ∋ (�)κ

κ
�
;

φροµ (39) ωε γετ

ϕ∋ (τ)ϑ ϕκ � Χ

�Ζ τ

0

κ∋ (�)κ
κ
δ� +Ρκ

�
:
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Ρεχαλλινγ τηε δε�νιτιον οφ κ�κ ωε τηεν ηαϖε

ϕ∋ (τ)ϑ ϕ
1=κ
κ

� Χ

(�Ζ τ

0

κ∋ (�)κ
κ
δ�

�1=κ
+Ρ

)

κ∋ (�)κ � Χ
ρΞ

κ=1

(�Ζ τ

0

κ∋ (�)κ
κ
δ�

�1=κ
+Ρ

)

κ∋ (�)κ
ρ
� Χ

ρΞ

κ=1

(�Ζ τ

0

κ∋ (�)κ
κ
δ�

�ρ=κ
+Ρσ

)

βψ Ηλδερ ινεθυαλιτψ, σινχε ρ=κ > 1;

� Χ
ρΞ

κ=1

�Ζ τ

0

κ∋ (�)κ
ρ
δ� +Ρρ

�
:

Ηενχε Γρονωαλλ�σ ινεθυαλιτψ ιµπλιεσ

κ∋ (�)κ
ρ
� ΧΡρ φορ ανψ � < τ � 1;

ωηιχη φορ � = 1 γιϖεσ
κξκ � ΧΡ:

τηατ ισ ξ 2 Βοξ (ΧΡ).
(ιι). Λετ

Φ (υ; ξ) = εξπ

 
Ξ

Ι2Β

υΙΞ[Ι]

!
(ξ) ; φορ (υ; ξ) 2 Υ � 
0

φορ σοµε νειγηβορηοοδ Υ οφ 0 ανδ λετ ϑ (υ; ξ) βε τηε ϑαχοβιαν δετερµιναντ οφ
τηε µαπ υ 7! Φ (υ; ξ). Σινχε

ϑ (0; ξ) = δετ
��
Ξ[Ι]

�
ξ

�
Ι2Β

βψ χοµπαχτνεσσ ϑ (υ; ξ) ισ βουνδεδ ανδ βουνδεδ αωαψ φροµ ζερο ιν Υ 0�
0; φορ
α συιταβλε οπεν συβσετ Υ 0 � Υ: Τηερεφορε,

ϕΒ (ξ;Ρ)ϕ � ϕΒοξ (ξ;ΧΡ)ϕ =

Ζ

Βοξ(ξ;ΧΡ)

δψ =

=

Ζ

ϕυΙ ϕ<(ΧΡ)
ϕΙϕ

ϕϑ (υ; ξ)ϕ δυ � χ

Ζ

ϕυΙ ϕ<(ΧΡ)
ϕΙϕ

δυ = χΡΘ;

ανδ αναλογουσλψ ωε εσταβλιση τηε ρεϖερσε ινεθυαλιτψ.
Φιναλλψ, (ιιι) ιµµεδιατελψ φολλοωσ φροµ (ιι).

Ρεµαρκ 21 Τηε αβοϖε προοφ βασιχαλλψ ρελιεσ ον Τηεορεµ 9 ανδ ελεµενταρψ
φαχτσ. Ηοωεϖερ, ωε ωαντ αλσο το στρεσσ τηε φαχτ τηατ τηε υνιφορµ χοντρολ ον
τηε χονσταντσ ισ ποσσιβλε σινχε τηε ϖεχτορ �ελδσ αρε φρεε, σο τηατ α βασισ χαν βε
χηοσεν ονχε ανδ φορ αλλ, ινδεπενδεντλψ φροµ τηε ποιντ.
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2.6 Εθυιϖαλεντ θυασιδιστανχεσ φορ φρεε ϖεχτορ �ελδσ

Λετ υσ χονσιδερ αγαιν τηε φρεε λιφτεδ ϖεχτορ �ελδσ Ξ0; Ξ1; :::; Ξν; ανδ τηε µαπ
�(�; �) ; δε�νεδ φορ �; � βελονγινγ το α συιταβλε νειγηβορηοοδΩ οφ α �ξεδ ποιντ
�0: Ρεχαλλ τηατ υ = �(�; �) χαν βε σεεν ασ αν ελεµεντ οφ τηε γρουπ Γ: Α ποιντ
υ 2 Γ ισ ινδιϖιδυατεδ βψ χοορδινατεσ φυϑγϑ2Β . Ονε χαν δε�νε

� (�; �) = κ�(�; �)κ ;

τηε Ροτησχηιλδ−Στειν�σ θυασιδιστανχε ινδυχεδ βψ τηε Ξι. Ιτ ισ δε�νεδ ονλψ λοχαλλψ
ανδ σατισ�εσ τηε προπερτιεσ χολλεχτεδ ιν τηε νεξτ:

Προποσιτιον 22 Φορ εϖερψ �0 2 Ρ
π τηερε εξιστ α νειγηβορηοοδ Ω οφ �0 ανδ

χονσταντσ χ; χ1; χ2 > 0 συχη τηατ φορ ανψ �; � 2Ω;

� (�; �) � 0

� (�; �) = 0() � = �

� (�; �) = � (�; �)

� (�; �) � χ φ� (�; �) + � (�; �)γ (40)

χ1δ (�; �) � � (�; �) � χ2δ (�; �) : (41)

Προοφ. Τηε �ρστ τηρεε προπερτιεσ φολλοω βψ δε�νιτιον ανδ βψ Προποσιτιον 11,
ωηιλε (40) φολλοωσ βψ (41), σινχε δ σατισ�εσ τηε τριανγλε ινεθυαλιτψ. Σο λετ υσ
προϖε (41).
Λετ υσ δενοτε βψ Β� (�;Ρ) τηε �βαλλσ� ωιτη ρεσπεχτ το �. Νοτε τηατ, ϕυστ βψ

δε�νιτιον οφ βοξ ανδ �; ωε ηαϖε

� 2 Βοξ (�;Ρ)() κ�(�; �)κ � Ρ;

ωηιχη ιµπλιεσ τηε ινχλυσιονσ

Β� (�; χ1Ρ) � Βοξ (�;Ρ) � Β� (�; χ2Ρ)

φορ ανψ � 2 Ω , Ρ � Ρ0, ανδ σοµε ποσιτιϖε χονσταντσ Ρ0; χ1; χ2: Τηερεφορε,
Τηεορεµ 20 ιµπλιεσ (41).
Ωε αλσο ηαϖε τηε φολλοωινγ

Προποσιτιον 23 Τηε χηανγε οφ χοορδινατε ιν Ρπ γιϖεν βψ

� 7! υ = �(�; �)

ηασ α ϑαχοβιαν δετερµιναντ γιϖεν βψ

δ� = χ (�) (1 +Ο (κυκ)) δυ

ωηερε χ (�) ισ α σµοοτη φυνχτιον, βουνδεδ ανδ βουνδεδ αωαψ φροµ ζερο.

Τηε αβοϖε προποσιτιον ισ προϖεδ ιν [14]; σεε αλσο [1, Τηµ. 1.7]. Μορεοϖερ,
τηισ προποσιτιον ισ α παρτιχυλαρ χασε οφ τηε αναλογουσ προπερτψ ωηιχη ωε ωιλλ
προϖε φορ νονσµοοτη ϖεχτορ �ελδσ ιν συβσεχτιον 3.4, Προποσιτιον 34.
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3 Αππροξιµατιον φορ νονσµοοτη Ηρµανδερ�σ

ϖεχτορ �ελδσ

Ηερε ωε ωαντ το προϖε αλσο φορ νονσµοοτη ϖεχτορ �ελδσ τηε αππροξιµατιον τηε−
ορεµ ανδ τηε βασιχ ρεσυλτσ αβουτ τηε µαπ �� (�). Τηισ ισ µαδε ποσσιβλε χοµ−
βινινγ τηε πρεϖιουσ τηεορψ φορ σµοοτη ϖεχτορ �ελδσ ωιτη α νατυραλ προχεδυρε οφ
αππροξιµατιον οφ νονσµοοτη ϖεχτορ �ελδσ βψ τηειρ Ταψλορ εξπανσιον. Το θυαν−
τιφψ τηε ωειγητ οφ τηε �ρεµαινδερσ� ιν τηε αππροξιµατιον φορµυλα, ωε ηαϖε το
ασσυµε τηε χοε′χιεντσ οφ τηε ϖεχτορ �ελδσ ιν τηε σχαλε οφ Ηλδερ σπαχεσ, σλιγητλψ
στρενγτηενινγ τηε ασσυµπτιονσ µαδε ιν ♣1.2.

3.1 Ασσυµπτιονσ

Ασσυµπτιονσ (Β). Ωε ασσυµε τηατ φορ σοµε ιντεγερ ρ � 2; σοµε � 2 (0; 1]
ανδ σοµε βουνδεδ δοµαιν 
 � Ρπ τηε φολλοωινγ ηολδ:

(Β1) Τηε χοε′χιεντσ οφ τηε ϖεχτορ �ελδσ Ξ1; Ξ2; :::; Ξν βελονγ το Χ
ρ�1 ;� (
) ;

ωηιλε τηε χοε′χιεντσ οφ Ξ0 βελονγ το Χ
ρ�2;� (
) : Ηερε ανδ ιν τηε φολλοω−

ινγ, Χκ;� στανδσ φορ τηε χλασσιχαλ σπαχε οφ φυνχτιονσ ωιτη δεριϖατιϖεσ υπ το
ορδερ κ, Ηλδερ χοντινυουσ οφ εξπονεντ �:

(Β2) Τηε ϖεχτορσ
��
Ξ[Ι]

�
ξ

	
ϕΙϕ�ρ

σπαν Ρπ ατ εϖερψ ποιντ ξ 2 
.

Τηε φολλοωινγ εασψ λεµµα ισ προϖεδ αναλογουσλψ το τηατ ιν ♣1.1.

Λεµµα 24 Υνδερ τηε ασσυµπτιον (Β1) αβοϖε, φορ ανψ 1 � κ � ρ; τηε δι⁄ερεν−
τιαλ οπερατορσ

φΞΙγϕΙϕ�κ

αρε ωελλ δε�νεδ, ανδ ηαϖε Χρ�κ;� χοε′χιεντσ. Τηε σαµε ισ τρυε φορ τηε ϖεχτορ
�ελδσ

�
Ξ[Ι]

	
ϕΙϕ�κ

:

∆επενδενχε οφ τηε χονσταντσ. Ωε ωιλλ οφτεν ωριτε τηατ σοµε χονσταντ
δεπενδσ ον τηε ϖεχτορ �ελδσ Ξι�σ ανδ σοµε �ξεδ δοµαιν 


0 β 
. (Αχτυαλλψ,
τηε δεπενδενχε ον τηε Ξι�σ ωιλλ βε υσυαλλψ λεφτ υνδερστοοδ). Εξπλιχιτλψ, τηισ ωιλλ
µεαν τηατ τηε χονσταντ δεπενδσ ον:
(ι) 
0;
(ιι) τηε νορµσ Χρ�1;� (
) οφ τηε χοε′χιεντσ οφ Ξι (ι = 1; 2; :::; ν) ανδ τηε

νορµσ Χρ�2;� (
) οφ τηε χοε′χιεντσ οφ Ξ0;
(ιιι) α ποσιτιϖε χονσταντ χ0 συχη τηατ τηε φολλοωινγ βουνδ ηολδσ:

ινφ
ξ2
0

µαξ
ϕΙ1ϕ;ϕΙ2ϕ;:::;ϕΙπϕ�ρ

���δετ
��
Ξ[Ι1]

�
ξ
;
�
Ξ[Ι2]

�
ξ
; :::;

�
Ξ[Ιπ]

�
ξ

���� � χ0

(ωηερε �δετ� δενοτεσ τηε δετερµιναντ οφ τηε π � π µατριξ ηαϖινγ τηε ϖεχτορσ�
Ξ[Ιι]

�
ξ
ασ ροωσ).

Νοτε τηατ (ιιι) ισ α θυαντιτατιϖε ωαψ οφ ασσυρινγ τηε ϖαλιδιτψ οφ Ηρµανδερ�σ
χονδιτιον, υνιφορµλψ ιν 
0.
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Ασ ωε ηαϖε σεεν ιν ♣1.2, ωε χαν αλωαψσ λιφτ ουρ νονσµοοτη ϖεχτορ �ελδσ το
γετ α σψστεµ οφ φρεε ϖεχτορ �ελδσ, στιλλ σατισφψινγ ασσυµπτιονσ (Β). Ιν τηισ σεχτιον
ωε αρε ιντερεστεδ ιν προϖινγ α Ροτησχηιλδ−Στειν τψπε αππροξιµατιον ρεσυλτ φορ
τηεσε λιφτεδ ϖεχτορ �ελδσ. Τηερεφορε, ϕυστ το σιµπλιφψ νοτατιον, τηρουγηουτ τηισ
σεχτιον ωε ωιλλ ασσυµε τηατ ουρ ϖεχτορ �ελδσ Ξι�σ αρε αλρεαδψ φρεε υπ το ωειγητ
ρ.

3.2 Ρεγυλαριζεδ χανονιχαλ χοορδινατεσ

Ασ ωε ηαϖε σεεν ιν ♣2.1, οφ βασιχ ιµπορτανχε ιν τηε στυδψ οφ τηε προπερτιεσ οφ τηε
ϖεχτορ �ελδσ ισ εξπρεσσινγ τηεµ ιν τερµσ οφ χανονιχαλ χοορδινατεσ. Τηισ µεανσ
το ιντροδυχε τηε λοχαλ δι⁄εοµορπηισµ

Ρ
π
� υ 7�! ξ = εξπ

 
Ξ

Ι2Β

υΙΞ[Ι]

!
(ξ) 2 Υ (ξ)

ανδ τηεν εξπρεσσ τηε ϖεχτορ �ελδσ Ξξ
[Ι] ασ δι⁄ερεντιαλ οπερατορσ Ξ

υ
[Ι] αχτινγ ον

τηε ϖαριαβλε υ. Ηοωεϖερ, υνδερ ουρ ασσυµπτιονσ, ωε χαννοτ εξπεχτ τηισ µαπ
βεινγ µορε ρεγυλαρ τηαν Ηλδερ χοντινυουσ; εϖεν ιφ ωε στρενγτηενεδ ουρ ασ−
συµπτιονσ ασκινγ τηε χοε′χιεντσ οφ Ξι το βε Χ

ρ�πι+1;�, ωε ωουλδ γετ α Χ1;�

λοχαλ δι⁄εοµορπηισµ, ωηιχη ωουλδ τρανσφορµ τηε ϖεχτορ �ελδσ Ξξ
ι ιν Χ

� ϖεχτορ
�ελδσ Ξυ

ι . Τηερεφορε ιτ ωουλδ βε ιµποσσιβλε το χοµπυτε τηε χοµµυτατορσ οφ τηε
τρανσφορµεδ ϖεχτορ �ελδσ, ανδ αλλ τηε αργυµεντσ οφ ♣2.1 ωουλδ βρεακ δοων. Μορε
πρεχισελψ, φολλοωινγ τηισ λινε ωε ωουλδ βε φορχεδ το ρεθυιρε τηε χοε′χιεντσ οφ Ξι
το βε Χ2ρ;�; ωηιχη ισ ρατηερ υνσατισφαχτορψ. Τηισ δισχυσσιον λεαδσ υσ το λοοκ φορ
α σµοοτη δι⁄εοµορπηισµ, αδαπτεδ το τηε σψστεµ

�
Ξ[Ι] (ξ)

	
ϕΙϕ�ρ

; τρανσφορµινγ

τηε ϖεχτορ �ελδσ Ξ[Ι] ιν ϖεχτορ �ελδσ Ξ
υ
[Ι] ηαϖινγ τηε σαµε ρεγυλαριτψ, ανδ βεττερ

προπερτιεσ. Τηισ λεαδσ το τηε χονχεπτ οφ ρεγυλαριζεδ χανονιχαλ χοορδινατεσ, �ρστλψ
ιντροδυχεδ ιν [6] ανδ τηεν υσεδ βψ σεϖεραλ αυτηορσ ιν παρτιχυλαρ χασεσ.
Φιξ α ποιντ ξ 2 
; φορ ανψ ι = 0; 1; 2; :::; ν, λετ υσ χονσιδερ τηε ϖεχτορ �ελδ

Ξι =

πΞ

ϕ=1

βιϕ (ξ) ≅ξϕ ;

λετ πριϕ (ξ) βε τηε Ταψλορ πολψνοµιαλ οφ βιϕ (ξ) οφ χεντερ ξ ανδ ορδερ ρ � πι; νοτε
τηατ

βιϕ (ξ) = π
ρ
ιϕ (ξ) +Ο

�
ϕξ� ξϕ

ρ�πι+�
�
; (42)

σετ

Σξι =

πΞ

ϕ=1

πριϕ (ξ) ≅ξϕ :

Φροµ (42) ωε εασιλψ ηαϖε (σεε, ε.γ., [2]):

Προποσιτιον 25 Τηε Σξι (ι = 0; 1; 2; :::; ν) αρε σµοοτη ϖεχτορ �ελδσ δε�νεδ ιν
τηε ωηολε σπαχε, σατισφψινγ:

�
ΣξΙ
�
ξ
= (ΞΙ)ξ ανδ

�
Σξ[Ι]

�
ξ
=
�
Ξ[Ι]

�
ξ
φορ ανψ Ι ωιτη ϕΙϕ � ρ.
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Μορεοϖερ,

Ξ[Ι] � Σ
ξ
[Ι] =

πΞ

ϕ=1

χϕΙ (ξ) ≅ξϕ ωιτη χ
ϕ
Ι (ξ) = Ο

�
ϕξ� ξϕ

ρ�ϕΙϕ+�
�
:

Φιναλλψ, δενοτινγ βψ δΞ ανδ δΣξ τηε διστανχεσ (σεε ♣ 2.5) ινδυχεδ βψ τηε Ξι�σ
ανδ τηε Σξι �σ, ρεσπεχτιϖελψ, ανδ βψ ΒΞ ανδ ΒΣξ τηε χορρεσπονδινγ µετριχ βαλλσ,
τηερε εξιστ ποσιτιϖε χονσταντσ χ1; χ2; Ρ0 δεπενδινγ ον 
;


0 ανδ τηε Ξι�σ; βυτ νοτ
ον ξ 2 
0, συχη τηατ

ΒΣξ (ξ; χ1Ρ) � ΒΞ (ξ;Ρ) � ΒΣξ (ξ; χ2Ρ)

φορ ανψ Ρ < Ρ0:

Νοω, �ξ α ποιντ ξ 2 
; ανδ σελεχτ α βασισ οφ Ρπ οφ τηε φορµ

��
Ξ[Ι]

�
ξ

	
Ι2Β

:

Χλεαρλψ, ωε ηαϖε ��
Ξ[Ι]

�
ξ

	
Ι2Β

=
��
Σ[Ι]
�
ξ

	
Ι2Β

:

Ωε χαν νοω ιντροδυχε, ασ ιν ♣2.1, τηε χανονιχαλ χοορδινατεσ ινδυχεδ βψ τηε
σµοοτη ϖεχτορ �ελδσ Σξι ; τηεσε ωιλλ βε, βψ δε�νιτιον, τηε ρεγυλαριζεδ χανονιχαλ
χοορδινατεσ ινδυχεδ βψ τηε Ξι�σ:

Ρ
π
� υ 7�! ξ = εξπ

 
Ξ

Ι2Β

υΙΣ
ξ
[Ι]

!
(ξ) (43)

φορ ξ βελονγινγ το σοµε νειγηβορηοοδ Υ (ξ) : Νοτε τηατ τηε ϑαχοβιαν οφ τηε

µαπ υ 7�! ξ; ατ υ = 0; εθυαλσ τηε µατριξ οφ τηε ϖεχτορ �ελδσ
ν�
Σξ[Ι]

�
ξ

ο
Ι2Β

=
��
Ξ[Ι]

�
ξ

	
Ι2Β

; τηερεφορε ισ νονσινγυλαρ. Μορεοϖερ, σινχε τηε Σξ[Ι]�σ αρε σµοοτη,

τηε δι⁄εοµορπηισµ ισ σµοοτη, τοο.
Νεξτ, ωε εξπρεσσ ουρ οριγιναλ ϖεχτορ �ελδσ Ξι ιν τερµσ οφ ρεγυλαριζεδ χανον−

ιχαλ χοορδινατεσ υ: λετ υσ ωριτε Ξυ
[Ι] το δενοτε τηε ϖεχτορ �ελδ Ξ[Ι] εξπρεσσεδ ιν

χοορδινατεσ υ. Τηε φολλοωινγ φαχτσ αρε ιµµεδιατε:

Προποσιτιον 26 (ι) Τηε (τρανσφορµεδ) ϖεχτορ �ελδ Ξυ
ι ηασ Χρ�πι;� χοε′−

χιεντσ, φορ ι = 0; 1; 2; :::; ν;

(ιι) τηε ϖεχτορ �ελδ Ξυ
[Ι] ηασ Χ

ρ�ϕΙϕ;� χοε′χιεντσ, φορ ανψ Ι συχη τηατ ϕΙϕ � ρ;

ιν παρτιχυλαρ, αλλ τηε
ν
Ξυ
[Ι]

ο
Ι2Β

ηαϖε Χ0;� χοε′χιεντσ;

(ιιι) �
Ξ[Ι]; Ξ[ϑ]

�υ
=
η
Ξυ
[Ι]; Ξ

υ
[ϑ]

ι

φορ ανψ Ι; ϑ συχη τηατ ϕΙϕ+ ϕϑ ϕ � ρ.
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3.3 Ωειγητσ ανδ αππροξιµατιον

Υσινγ τηε χοορδινατεσ υ ωε χαν γιϖε τηε φολλοωινγ

∆ε�νιτιον 27 Λετ Ξ βε α ϖεχτορ �ελδ ωιτη ποσσιβλψ νονσµοοτη χοε′χιεντσ. Ωε
ωιλλ σαψ τηατ Ξ ηασ ωειγητ � κ 2 Ρ νεαρ τηε ποιντ ξ ιφ, εξπρεσσινγ ιτ ιν ρεγυλαριζεδ
χανονιχαλ χοορδινατεσ

Ξυ =
Ξ

ϑ2Β

χϑ (υ) ≅υϑ

ωε ηαϖε:
ϕχϑ (υ)ϕ � χ κυκ

κ+ϕϑϕ
.

φορ υ ιν α νειγηβορηοοδ οφ 0.

Ηερε, ασ ιν ♣2.1,

κυκ =
Ξ

ϑ2Β

ϕυϑ ϕ
1=ϕϑϕ

:

Νοτε τηατ ιφ Ξ ισ α σµοοτη ϖεχτορ �ελδ οφ ωειγητ � κ 2 Ζ; ιν τηε σενσε οφ
∆ε�νιτιον 7, τηεν ιτ ισ αλσο οφ ωειγητ � κ ιν τηε σενσε οφ τηε αβοϖε δε�νιτιον.
Ωε ωιλλ αλσο υσε τηε φολλοωινγ ελεµενταρψ ρεµαρκ:
ιφ Ξ;Ψ ηαϖε ωειγητ � κΞ ; κΨ ; ρεσπεχτιϖελψ, τηεν Ξ � Ψ ηασ ωειγητ �

µιν (κΞ ; κΨ ) :

Προποσιτιον 28 Τηε ϖεχτορ �ελδ Ξ[Ι] � Σ
ξ
[Ι] ηασ ωειγητ � � � ϕΙϕ νεαρ ξ; φορ

ανψ ϕΙϕ � ρ:

Προοφ. Βψ Προποσιτιον 25, ωε κνοω τηατ

Ξ[Ι] � Σ
ξ
[Ι] =

πΞ

ϕ=1

χϕΙ (ξ) ≅ξϕ ωιτη χ
ϕ
Ι (ξ) = Ο

�
ϕξ� ξϕ

ρ�ϕΙϕ+�
�
: (44)

Λετ
υ = Φ (ξ) = (Φϑ (ξ))ϑ2Β

βε τηε λοχαλ σµοοτη δι⁄εοµορπηισµ δε�νεδ ασ ιν (43), ανδ λετ ξ = Φ�1 (υ) βε
ιτσ ινϖερσε. Τηεν ϖεχτορ �ελδσ αρε τρανσφορµεδ αχχορδινγ το τηε λαω:

≅ξϕ =
Ξ

ϑ2Β

�
≅ξϕΦϑ

�
(ξ) ≅υϑ :

Τηερεφορε

Ξυ
[Ι] �

�
Σξ[Ι]

�υ
=
Ξ

ϑ2Β

πΞ

ϕ=1

�
χϕΙ≅ξϕΦϑ

�
(ξ) ≅υϑ =

Ξ

ϑ2Β

εχϑΙ (υ) ≅υϑ

ωιτη

��εχϑΙ (υ)
�� =

������

πΞ

ϕ=1

�
χϕΙ≅ξϕΦϑ

�
(ξ)

������
�
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σινχε Φ ισ α σµοοτη δι⁄εοµορπηισµ ανδ βψ (44)

� χ

πΞ

ϕ=1

���χϕΙ (ξ)
��� � χ ϕξ� ξϕρ�ϕΙϕ+� � χ κυκρ�ϕΙϕ+� � χ κυκϕϑϕ�ϕΙϕ+� :

Τηισ ενδσ τηε προοφ.

Προποσιτιον 29 Φορ ανψ ϕΙϕ � ρ ωε ηαϖε:

(ι) τηε ϖεχτορ �ελδ Ξ[Ι] ηασ ωειγητ � � ϕΙϕ νεαρ ξ.

(ιι) Ιφ Ψ0; Ψ1; : : : ; Ψν ισ ανψ σψστεµ οφ σµοοτη ϖεχτορ �ελδσ σατισφψινγ (ωιτη ρε−
σπεχτ το ρεγυλαριζεδ χανονιχαλ χοορδινατεσ)

Ξ

Ι2Β

υΙεΙ =
Ξ

Ι2Β

υΙΨ[Ι]

τηεν Ξ[Ι] � Ψ[Ι] ηασ ωειγητ � �� ϕΙϕ.

Προοφ. Ωε χαν αππλψ το τηε σψστεµ οφ σµοοτη ϖεχτορ �ελδσ
ν
Σξ[Ι]

ο
Ι2Β

τηε

τηεορψ δεϖελοπεδ ιν Σεχτιον 2 ανδ σαψ τηατ:

(ι) τηε ϖεχτορ �ελδ Σξ[Ι] ηασ ωειγητ � � ϕΙϕ.

(ιι) Σξ[Ι] � Ψ[Ι] ηασ ωειγητ � 1� ϕΙϕ.

Ασσερτιον (ιι) εξπλοιτσ τηε φαχτ τηατ τηε Σξι �σ αρε φρεε υπ το ωειγητ ρ ατ ξ; ιφ
τηε Ξι�σ αρε σο, βεχαυσε τηε Ξι�σ ανδ τηε Σ

ξ
ι �σ σατισφψ τηε σαµε χοµµυτατιον

ρελατιονσ, υπ το ωειγητ ρ, ατ ξ:
Τηερεφορε, βψ Προποσιτιον 28, ωε χονχλυδε τηατ:

(ι) Ξ[Ι] = Σ
ξ
[Ι] +

�
Ξ[Ι] � Σ

ξ
[Ι]

�
ηασ ωειγητ � µιν (� ϕΙϕ ;� ϕΙϕ+ �) = � ϕΙϕ

(ιι) Ξ[Ι]�Ψ[Ι] =
�
Ξ[Ι] � Σ

ξ
[Ι]

�
+
�
Σξ[Ι] � Ψ[Ι]

�
ηασ ωειγητ� µιν (�� ϕΙϕ ; 1� ϕΙϕ) =

�� ϕΙϕ :

Ωε χαν νοω δεδυχε φροµ τηε πρεϖιουσ προποσιτιον α λοχαλ αππροξιµατιον
ρεσυλτ, αναλογουσ το Τηεορεµ 12:

Τηεορεµ 30 Ιφ Ξυ
[Ι] δενοτεσ τηε ϖεχτορ �ελδ Ξ[Ι] εξπρεσσεδ ιν ρεγυλαριζεδ χανον−

ιχαλ χοορδινατεσ χεντερεδ ατ ξ; ανδ Ψ[Ι] αρε λεφτ ινϖαριαντ ηοµογενεουσ ϖεχτορ �ελδ
ον τηε γρουπ Γ, ασ αβοϖε, τηεν

Ξυ
[Ι] = Ψ[Ι] +Ρξ;[Ι];

ωηερε Ρξ;[Ι] ισ α Χ
ρ�ϕΙϕ;� ϖεχτορ �ελδ οφ ωειγητ � � � ϕΙϕ νεαρ ξ; δεπενδινγ ον

ξ ιν α Χ� χοντινυουσ ωαψ.
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Προοφ. Φιξ α ποιντ ξ 2 Ρπ; ανδ δε�νε τηε σµοοτη αππροξιµατινγ ϖεχτορ �ελδσ
Σι;ξ. Ηερε ιτ ωιλλ βε µορε χονϖενιεντ το δενοτε βψ τηε συβσχριπτ ξ τηε δεπενδενχε
ον τηε χεντερ ξ οφ τηε αππροξιµατιον:Ωε κνοω τηατ, εξπρεσσινγ τηε ϖεχτορ �ελδσ
ωιτη ρεσπεχτ το τηε χανονιχαλ χοορδινατεσ υ οφ Σ[Ι];ξ ατ ξ (ρεγυλαριζεδ χανονιχαλ
χοορδινατεσ οφ Ξ[Ι] ατ ξ),

Ξυ
[Ι] � Σ

υ
[Ι];ξ ηασ ωειγητ � �� ϕΙϕ νεαρ υ = 0; φορ ανψ ϕΙϕ � ρ.

Μορε εξπλιχιτλψ, τηισ µεανσ τηατ ωε χαν ωριτε

Ξυ
[Ι] = Σ

υ
[Ι];ξ +Ο[Ι];ξ ; (45)

ωηερε Ο[Ι];ξ αρε Χ
ρ�ϕΙϕ;� ϖεχτορ �ελδσ (ιν τηε ϖαριαβλεσ υ) οφ ωειγητ � � � ϕΙϕ

νεαρ υ = 0; ανδ τηειρ χοε′χιεντσ αρε Χ� φυνχτιονσ οφ ξ, βεχαυσε τηε σαµε ισ
τρυε φορ Συ[Ι];ξ: Τηισ λαστ ασσερτιον φολλοωσ διρεχτλψ βψ τηε δε�νιτιον οφ Σι;ξ ανδ
ουρ ασσυµπτιονσ, ιν ϖιεω οφ τηε φολλοωινγ ρεµαρκ:

Ιφ Ξι =

πΞ

ϕ=1

βιϕ (ξ) ≅ξϕ τηεν Σι;ξ =

πΞ

ϕ=1

0
≅ Ξ

ϕ�ϕ�ρ�πι

≅�ξ βιϕ (ξ)

�!
(ξ� ξ)

�

1
Α ≅ξϕ :

Σινχε ωε αρε ασσυµινγ βιϕ 2 Χ
ρ�πι;�, φροµ τηε αβοϖε φορµυλα ονε ρεαδσ τηατ:

(ι) τηε χοε′χιεντσ οφ Σι;ξ αρε Χ
� φυνχτιονσ οφ ξ;

(ιι) τηε σαµε ισ τρυε φορ χοµµυτατορσ Σ[Ι];ξ φορ ϕΙϕ � ρ;

(ιιι) τηε σαµε ισ τρυε ιφ ωε εξπρεσσ Σ[Ι];ξ ωιτη ρεσπεχτ το νεω ϖαριαβλεσ υ ωηιχη
αρε σµοοτη φυνχτιονσ οφ ξ.

Τηισ χοµπλετεσ τηε προοφ οφ Χ� δεπενδενχε οφ Ο[Ι];ξ ον ξ.
Ωε νοω χονσιδερ τηε Σι;ξ�σ ασ σµοοτη ϖεχτορ �ελδσ δε�νεδ ιν τηε ωηολε σπαχε

Ρ
π ανδ, φορ ανψ �ξεδ � 2 Ρπ, ωε αππλψ Ροτησχηιλδ−Στειν�σ λοχαλ αππροξιµατιον
τηεορεµ το τηε σµοοτη Σι;ξ�σ, ωριτινγ

Σϖ[Ι];ξ = Ψ[Ι] +
βΡξ�;[Ι]; (46)

ωηερε Ψ[Ι] αρε λεφτ ινϖαριαντ ϖεχτορ �ελδσ ον τηε γρουπ, βΡξ�;[Ι] αρε σµοοτη ϖεχτορ
�ελδσ οφ ωειγητ � 1�ϕΙϕ ; σµοοτηλψ δεπενδινγ ον τηε ποιντ �; ανδ τηε συπερσχριπτ
ϖ ιν Σϖ[Ι];ξ µεανσ τηατ τηεσε ϖεχτορ �ελδσ αρε εξπρεσσεδ ωιτη ρεσπεχτ το τηε

χανονιχαλ χοορδινατεσ ϖ οφ Σ[Ι];ξ χεντερεδ ατ �. Τηε ϖεχτορ �ελδσ βΡξ�;[Ι] αλσο
δεπενδ ον ξ; βεχαυσε α δι⁄ερεντ ξ µεανσ α δι⁄ερεντ σετ οφ ϖεχτορ �ελδσ Σϖ[Ι];ξ:

Σινχε, βψ ποιντ (ιιι) ηερε αβοϖε, Σϖ[Ι];ξ δεπενδ ον ξ ιν α Χ
�−χοντινυουσ ωαψ, τηε

σαµε ισ τρυε φορ βΡξ�;[Ι]:
Νεξτ, ωε σετ � = ξ ιν (46); τηεν ϖ = υ (χανονιχαλ χοορδινατεσ οφ Σ[Ι];ξ

χεντερεδ ατ ξ), σο ωε χαν ωριτε

Συ[Ι];ξ = Ψ[Ι] +
βΡξξ;[Ι]
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ωηερε βΡΡξξ;[Ι] ισ α σµοοτη ϖεχτορ �ελδ οφ ωειγητ � 1� ϕΙϕ νεαρ ξ; δεπενδινγ ον
ξ ιν α Χ� χοντινυουσ ωαψ. Τηισ φαχτ, τογετηερ ωιτη (45), αλλοωσ υσ το ωριτε:

Ξυ
[Ι] = Ψ[Ι] +Ρξ;[Ι]

ωηερε Ρξ;[Ι] ισ α Χ
ρ�ϕΙϕ;� ϖεχτορ �ελδ οφ ωειγητ � �� ϕΙϕ νεαρ ξ; δεπενδινγ ον

ξ ιν α Χ� χοντινυουσ ωαψ.
Το µακε µορε υσαβλε τηε πρεϖιουσ τηεορεµ ωε ηαϖε το χονστρυχτ, ασ ιν τηε

σµοοτη χασε, α µαπ υ = �(�0; �) ; αλλοωινγ το χοµπυτε τηε δεριϖατιϖε Ξ[Ι]φ (�)
ωιτηουτ πασσινγ το ϖαριαβλεσ υ.
Λετ:

� = Ε (υ; �0) = εξπ

 
Ξ

Ι2Β

υΙΣ[Ι];�0

!
(�0) . (47)

Χλεαρλψ, φορ ανψ �ξεδ �0; τηε µαπ υ 7�! Ε (υ; �0) ισ σµοοτη. Μορεοϖερ, ιτσ
ϑαχοβιαν δετερµιναντ ατ υ = 0 εθυαλσ

δετ
�
Σ[Ι];�0

�
(�0) 6= 0

βεχαυσε
ν�
Σ[Ι];�0

�
�0

ο
Ι2Β

ισ α βασισ οφ Ρπ: Τηερεφορε τηερε εξιστσ α σµοοτη ινϖερσε

φυνχτιον, ωηιχη ωε δενοτε βψ

υ = ��0 (�) :

Α βασιχ δι⁄ερενχε ωιτη τηε σµοοτη τηεορψ ισ τηατ ��0 (�) ισ νοτ σιµπλψ ��� (�0).
Τηισ ισ δυε το τηε φαχτ τηατ ιφ � = Ε (υ; �0) τηεν

Ε (�υ; �) = εξπ

 
�
Ξ

Ι2Β

υΙΣ[Ι];�

!
εξπ

 
Ξ

Ι2Β

υΙΣ[Ι];�0

!
(�0) 6= �0

βεχαυσε τηε ϖεχτορ �ελδσ ιν τηε �ρστ εξπονεντιαλ αρε Σ[Ι];� ωηιλε τηοσε ιν τηε
σεχονδ ονε αρε Σ[Ι];�0 : ∆υε το τηισ ασψµµετρψ, ωε χαννοτ εξπεχτ ��0 (�) το βε ασ
σµοοτη ιν τηε �0 ϖαριαβλε ασ ιτ ισ ιν τηε � ϖαριαβλε. Ινστεαδ, σινχε τηε ϖεχτορ �ελδσ
δεπενδ ον �0 ιν α Χ

� χοντινυουσ ωαψ, τηε βεστ ωε χαν ηοπε ισ Χ� χοντινυιτψ
ωιτη ρεσπεχτ το �0 αλσο φορ ��0 (�) : Τηισ ισ αχτυαλλψ τηε χασε:

Προποσιτιον 31 Φορ ανψ �ξεδ �; τηε µαπ �0 7! ��0 (�) ισ Χ
�.

Προοφ. Ωε σταρτ νοτινγ τηατ τηε φυνχτιον �0 7! Ε (υ; �0) ισ Χ
� χοντινυουσ.

Τηισ φολλοωσ φροµ (47) βψ χοντινυουσ δεπενδενχε εστιµατεσ ον τηε εξπονεντιαλ,
κεεπινγ ιν µινδ τηατ �0 7! Σ[Ι];�0 ισ Χ

�.
Ωε αρε νοω γοινγ το ρεϖισε τηε προοφ οφ τηε ινϖερσε φυνχτιον τηεορεµ, σηοωινγ

τηατ ιν τηισ χασε α Χ� δεπενδενχε ον τηε παραµετερ �0 οφ τηε φυνχτιον υ 7!
Ε (υ; �0) ιµπλιεσ α Χ

� δεπενδενχε ον τηε σαµε παραµετερ �0 φορ τηε ινϖερσε
φυνχτιον � 7! ��0 (�) :
Λετ Α�0 βε τηε ϑαχοβιαν µατριξ ≅υΕ (υ; �0) εϖαλυατεδ ατ υ = 0, ανδ, φορ α

�ξεδ �; σετ
∋�0 (υ) = υ+Α

�1
�0
(Ε (υ; �0)� �) :
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Το �νδ τηε ινϖερσε φυνχτιον οφ υ 7! Ε (υ; �0) ωε λοοκ φορ α �ξεδ ποιντ οφ ∋�0 :
Σινχε Ε (υ; �0) ισ α σµοοτη φυνχτιον οφ υ ανδ Ε (0; �0) � �0 = 0; φορ υ ιν α
συιταβλψ σµαλλ νειγηβορηοοδ οφ 0 ανδ � ιν α συιταβλε νειγηβορηοοδ οφ �0; ∋�0 ισ
α χοντραχτιον; υνδερ τηεσε ασσυµπτιονσ, ωε χαν ωριτε

ϕ∋�0 (υ1)� ∋�0 (υ1)ϕ � � ϕυ1 � υ2ϕ

φορ σοµε � 2 (0; 1) : Φορ ανψ τωο ποιντσ �1; �2 ιν α σµαλλ νειγηβορηοοδ οφ �0; λετ
υσ δε�νε τηε σεθυενχε: �

υ�ιν+1 = ∋�ι (υν)

υ�ι0 = 0

φορ ι = 1; 2: Χλεαρλψ, υ�ιν ! Ε (�; �ι)
�1
(�) � υ�ι ανδ

υ�1ν+1 � υ
�2
ν+1 = υ

�1
ν � υ

�2
ν +Α

�1
�1

�
Ε
�
υ�1ν ; �1

�
� �
�
�Α�1�2

�
Ε
�
υ�2ν ; �2

�
� �
�
=

=
ν
υ�1ν � υ

�2
ν +Α

�1
�1

�
Ε
�
υ�1ν ; �1

�
� Ε

�
υ�2ν ; �1

��ο
+
ν�
Α�1�2 �Α

�1
�1

�
(�)
ο
+

+
ν
Α�1�1

�
Ε
�
υ�2ν ; �1

�
� Ε

�
υ�2ν ; �2

��ο
+
ν�
Α�1�1 �Α

�1
�2

�
Ε
�
υ�2ν ; �2

�ο

� φΑγ+ φΒγ+ φΧγ+ φ∆γ :

Νοω,
ϕφΑγϕ =

��∋�1
�
υ�1ν
�
� ∋�1

�
υ�1ν
��� � �

��υ�1ν � υ�1ν
��

ωηιλε
ϕφΒγϕ+ ϕφΧγϕ+ ϕφ∆γϕ � χ ϕ�1 � �2ϕ

�

(ωηερε ωε υσεδ τηε φαχτ τηατ Ε (υ; �0) ισ Χ
� ιν �0; υνιφορµλψ ιν υ, φορ σµαλλ υ).

Ηενχε ���υ�1ν+1 � υ
�2
ν+1

��� � �
��υ�1ν � υ�1ν

��+ χ ϕ�1 � �2ϕ� :

Πασσινγ το τηε λιµιτ φορ ν!1 ωε γετ

��υ�1 � υ�2
�� � �

��υ�1 � υ�2
��+ χ ϕ�1 � �2ϕ�

ανδ σο ��υ�1 � υ�2
�� � χ

1� �
ϕ�1 � �2ϕ

�

ωηιχη ισ τηε δεσιρεδ Χ� χοντινυουσ δεπενδενχε.

Φιναλλψ, βψ Τηεορεµ 30 ανδ Προποσιτιον 31 ωε ιµµεδιατελψ γετ:

Τηεορεµ 32 Λετ Ψ[Ι] βε τηε λεφτ ινϖαριαντ ηοµογενεουσ ϖεχτορ �ελδ ον τηε γρουπ
Γ. Τηεν

Ξ�
[Ι] (φ (�� (�))) =

�
Ψ[Ι]φ +Ρ�;[Ι]φ

�
(�� (�)) ; (48)

ωηερε �� (�) ισ α σµοοτη δι⁄εοµορπηισµ, δεπενδινγ ον � ιν α Χ
� χοντινυουσ

ωαψ, ανδ Ρ�;[Ι] αρε Χ
ρ�ϕΙϕ;� ϖεχτορ �ελδσ οφ ωειγητ � �� ϕΙϕ ; δεπενδινγ ον � ιν

α Χ� χοντινυουσ ωαψ.
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3.4 Εθυιϖαλεντ θυασιδιστανχεσ ανδ προπερτιεσ οφ τηε νον−
σµοοτη µαπ �

Ηερε ωε ωιλλ προϖε τωο υσεφυλ προπερτιεσ οφ τηε µαπ �� (�).

Προποσιτιον 33 Φορ εϖερψ �0 2 Ρ
π τηερε εξιστ α νειγηβορηοοδ Ω οφ �0 ανδ

χονσταντσ Χ1; Χ2 > 0 συχη τηατ φορ ανψ �; � 2 Ω; τηε φολλοωινγ λοχαλ εθυιϖαλενχε
ηολδσ:

Χ1δ (�; �) � � (�; �) � Χ2δ (�; �) :

Προοφ. Βψ τηε βολλ−βοξ τηεορεµ φορ φρεε σµοοτη ϖεχτορ �ελδσ, ωε ηαϖε

� (�; �) = κ�� (�)κ ∋ δεΣ� (�; �) :

Ιν τυρν, βψ Προποσιτιον 25,

δεΣ� (�; �) ∋ δ εΞ (�; �)

ανδ ωε αρε δονε.

Προποσιτιον 34 Τηε χηανγε οφ χοορδινατε ιν Ρπ γιϖεν βψ

υ = �� (�)

ηασ α ϑαχοβιαν δετερµιναντ γιϖεν βψ

δ� = χ (�) (1 +Ο (κυκ)) δυ

ωηερε χ (�) ισ α Χ� φυνχτιον, βουνδεδ ανδ βουνδεδ αωαψ φροµ ζερο. Μορε εξ−
πλιχιτλψ, τηισ µεανσ τηατ δ� = [χ (�) + ! (�; υ)] δυ ωιτη ϕ! (�; υ)ϕ � χ κυκ ανδ χ (�)
ασ αβοϖε.

Προοφ. Ωε ωιλλ χοµπυτε τηε ϑαχοβιαν δετερµιναντ οφ τηε ινϖερσε µαππινγ
� = ��1� (υ). Το δο τηισ, σετ

Ξ[Ι] =
ΝΞ

κ=1

χΙκ(�)
≅

≅�κ
φορ εϖερψ Ι 2 Β

ανδ ρεωριτε τηε λεφτ ηανδ σιδε οφ (48) ασ

Ξ

κ

χΙκ(�)
Ξ

ϕ

≅φ

≅υϕ
(�� (�))

≅

≅�κ

η
(�� (�))ϕ

ι
:

Τηεν (48), εϖαλυατεδ ατ � = �, βεχοµεσ:

Ξ

κ

χΙκ(�)
Ξ

ϕ

≅φ

≅υϕ
(0)

≅

≅�κ

η
(�� (�))ϕ

ι
�=�

=
�
Ψ[Ι]φ +Ρ

�
[Ι]φ
�
(0):
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Χηοοσινγ φ(υ) = υϑ (ϑ 2 Β),

Ξ

κ

χΙκ(�)
≅

≅�κ

�
(�� (�))ϑ

�
�=�

=
�
Ψ[Ι]υϑ +Ρ

�
[Ι]υϑ

�
(0) = �Ιϑ

ωηερε τηε λαστ εθυαλιτψ φολλοωσ ρεχαλλινγ τηατ

Ψ[Ι] [φ ] (0) =
δ

δτ
φ
�
εξπ τΨ[Ι]

�
=τ=0

ανδ τηατ εξπ τΨ[Ι] εθυαλσ, ιν λοχαλ χοορδινατεσ, (0; : : : ; τ; : : : ; 0) ωιτη τ ιν τηε [Ι]−
τη ποσιτιον. Ασ το Ρ�[Ι]υϑ ; βψ Τηεορεµ 32 ιτ ηασ ωειγητ � � � ϕΙϕ ; ωηιχη βψ

δε�νιτιον µεανσ τηατ

Ρ�[Ι] =
Ξ

ϑ2Β

αΙϑ (υ)
≅

≅υϑ
ωιτη ϕαΙϑ (υ)ϕ � Χ κυκ

��ϕΙϕ+ϕϑϕ
:

Τηεν

Ρ�[Ι]υϑ = �ΙϑαΙϑ (υ) ;���Ρ�[Ι]υϑ
��� � Χ κυκ� ;

�
Ρ�[Ι]υϑ

�
(0) = 0:

∆ε�νινγ τηε σθυαρε µατριξ

Χ(�) = φχηκ(�)γηκ

ανδ λεττινγ ϑ(�) βε τηε ϑαχοβιαν δετερµιναντ οφ τηε µαππινγ υ = (��(�)) ατ
� = �, ωε γετ

∆ετ [Χ(�)] � ϑ(�) = 1:

Ηενχε τηε ϑαχοβιαν δετερµιναντ οφ τηε µαππινγ � = ��1� (υ) ατ υ = 0 εθυαλσ
∆ετ[Χ(�)] � χ(�); ωηιχη ισ α Χ� φυνχτιον, ασ τηε χοε′χιεντσ οφ τηε ϖεχτορ �ελδσ
Ξ[Ι] αρε. Μορεοϖερ χ (�) ισ βουνδεδ αωαψ φροµ ζερο σινχε τηε Ξ[Ι]�σ αρε ινδε−
πενδεντ.
Σινχε τηε δετερµιναντ οφ � = ��1� (υ) ισ α σµοοτη φυνχτιον ιν υ, ιτ εθυαλσ

χ (�) + ! (�; υ)

ωιτη ϕ! (�; υ)ϕ � χ κυκ ανδ ωε χονχλυδε

δ� = χ(�) � (1 +Ο (κυκ)) δυ:
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